
���������	������� ����������� �������������	�� �� ������

������	���������������������� ��������	�����	������������

��������������� ��!���"� �	� � ��	�#�� �

���������	����� ���� ���������������������� ��

� ������� 	 �� ���� ��

��

����������� ���� � �� ���� ��� � ���� ����

����

� ������������������������

� ��	��������������� � �������� ���� !�"����� �#$�� ���

� � � � �#�� 	 �� ������ � �#�%��� ��������� ������ �������

�&$#���' ����( ��)�������� ������&��� �������*�

�&$#���+�� ������ ' ��� , ��*#�" �



�!'-.�.�/�0

�������������������	������ �	����	��� �������� ��� � ������� ���� 	���������� ������������	� � ��

� � ���������	������� ����� 	�	��� � � � 	������ � �!�������� ����������������� �����"� 	����	������

������	"������������� ��"�� � �������� �	������ ���� �#�������	�� ������ � �"��	�� ����������� 	���

	�"�����������������������#��� � �������"$

!������ $$$� $$$$$$$$$$$$$$� %	��$$� $������ � �



.' 0�,-!��!�!0��

�� ������ ��"�� ��� �	"�� ����� ������������ ��� �#������ ��� ��	������� ��� ����	��� ��������	��� ����

�	��� ������� ��� ��� ��������� ��� ������$�  	��� ��	�"�� ��� �#������� ��� %�$� &��	���

'	�������� ���� �������� ��� ��� ������� ��� ������	"�� ���� ���(����� ���� ���� �������� 	����� ����

	������ � � �� ��"� ��������� 	��� ���� ������	����� ��� ��� ��� ��)� *��� ����� 	��� ����� ��� �����

	������	���$� �� �#����� �������	�"�����+�������'������������ ���� ������� ��� ���� ������������

��� ������ ��� ��� � ��"� 	��� ���� ���� ����������� ���� � � ����� �	������$� �� 	���� ����� �� � ��	�"�

,��������� -���	��� . /0�������� 	�� %������ 1���� ������������ ���� �	��� ����������� � � �����

�����	�������������������������$

+��� ����������� � � � ��� ������� ������ ���� �	��� ����� ��������� �������� ���� ����� 	���

������	������� � � ������ ��������	��$� +�� ��� �� �� �	������� ��� ������� ������� 	��� %������ ���

�	�� 	� ���	�� ����� "������� ���� ����� ������� 	�� ����������� ������ ���2��	�"�� ���� 	��� ����

�������� ��������))� +�	�"�� ��� ���� 	��� ,������� %����������� �	���� �	��� 	��� �������� ����

������ �������� ��������� ���������3� ��� 4�5� ���� ��������� ��� � ���� ���� ������� 	��� ��� &���� ����

������������������������$� ������������	�����	������	�"���� �+1�������������� � ��������������

	������ +������������ �	�2���� ������$� +�� ������� ��	�"�� ���� ���� ��	���6	��� ����7� ������� ����

������ � � ���������$� +���� ����� 	��� 	� ���	�� ������� � � �������	������� 	��� � /� � ����� �����

����������� ��������������������� 	��������������$

+��� ����2�������� �������� � � �	��� ��� �������� ��� ���	���� 	������	����� ��	�"�� ���� ���� ������

�	���� 	��� ������	������� 2� ������	���� ������� ���� ���	�� ��	���� ����� ������ �	�� �����)� +��

8	����� ��	�"�� ���� ���� �	��� ��������� 	���� ���� 6))7�� ���� �������� ��� � ���� ��� �����2�������

��������� 	��� ���� "������� ��� ������ ����� �� �������� � /�� ������ ������$� 9��	����� �� �	��� ���

������	������	�"�����	������� !�	�� 	���9�	�����6%	�2�� ���� ���� ����� �������� ��� ���7�� 	���

����������� ���������� �������� 	��� ������������������ ��� ��	��� � � ��������$� �� ������ ���� �	���

����������������������������"��������������������������$



.���!1/.�/�0�

:*;� -�����������	�����

	2����������� 	���	�����������

��  ��	�������������

<���  ����������

=>� =� ������	�

?>� ?�������	�

� � ������	����	�� �@���

��� ��������

��� �������

�4+� ��	����� 	������	�����	��

� ,� �����2������2������	�

����2%� 	���2����������������%

�,� ��"	�����������	�	��

�!+� � ��	��	��� 	������	�����	��

''�� ' ������'�������	���������	���

'1�,� '����2������2�������2������	��

'AA� '�������	��	���������

' !� � '������ ������	������

'+!'� '�����+�	���������!�������' �	��

�� 1�������	����

1� 1���

11'� 1	����	�����	�����������

194,� 1��	�	�����	�������������������������

%�A!� %������	��������	�������	��	�

%B�� %��#�������������	���

&� &�������

&��� &�5���� ������	��	�

&4�!�� &�5���2���"����������������� 	��	�

&+2B�B'� &����������2��� ���2'����	�����

9'!� 9���	��������� �����

9%�� 9����	���%�����������	����

��� A�����������



A!� A�	�������

*!�� *��	�� ������	������

*�C� *��	������� ������

*'���� *��	������'� ����	���	������

*'C� *��	������'� �����

*11� *��	��������	���	������	

*1C� *��	������1������

*1C���� *��	������1������������ 	������

*%C� *��	������%������

*&D� *��	������&������

*AC� *��	������A������

*�C� *��	������������������������

*-,� *�����	���������#��	��

�%� ���������	����

�&�� ������	����	��&�5�������������	���

�9�� �������������������	��	�

��� � ����������������

��A� ���������������A

�� � ��������������� 

���$� ����������	��

���$� ���������	����

"%	� 0���� �	�����

0,4� 0��"��		���	���,�����4	���	������

E� 4������	��

4*� 4������5�����������

 �  	���#

 �  ��	����

�$�$�  ������	��������

�-B��  ���������������������	���

B�B'*� ���2������2'����	�����

B1-� B��2�������������

B��$� B��	����

B!� B��2��������	�

B!E� B��2��������	����������E



B!�� B��2��������	�����������

B!=� B��2��������	����������=

B!F� B��2��������	����������F

B!?� B��2��������	����������?

B!'� B��2����������������

.%� .����	���������

.,%� �2,����������	����

.-9� .������	�������	��

,GB� ,����������� ���	������	���

,'!� ,�����	������������ �	����

,1-� ,������	�����	�����	�����

,.1� ,����2��2�	��

,��$� ,�������

- � ,���������	��

->� !�����	�������������	��

-�*� -���������*���

-�� -�����

- �� � -	���������	��	�

-�'� � -	��������������� 	��	�

-B�� -�����������	���

-!� -	����������

-+%� -	���������������

-+2,1-� -���������	�������	����������	�����	�����	�����

�� !������

!� !�������	�

!%� !�	��	�������	����

!%!� !�������������������	��

!���$� !����������

!.%� !�����#���������	��

!���$� !����������

+'!� +��������������	����

+ '� +���	�����������5���

�G�� �����������������

�G�� �����������������



/0�!2

��%�

� ��#��� ��� � � �

. �*� �"#��%�� �� ��� ��

.$$��)�� ��� � �� ���

.$���� ��� #�

�������� 34� /�����&�����

3�3� �������� � 	�1���#����������

E$E$E� '�����'�����	���9����' �����*��	������ E

E$E$�� %���������� � �*��	������1�C�����6*1C7� �

3�5� ���&��&���� 	�����1���#�������

E$�$E� ��	������ � �����C����� F

E$�$�� ,��������� � �����C��	��A������ H

E$�$=� A��������%�������	����� H

E$�$F� +���4����1������ � �*��	������1�C����� I

3�6� '#�����#�/�	������� � 	�� ��������� '�1��&�

E$=$E� ������*1C����������� EE

E$=$�� 1�������*1C����������� E�

E$=$=� *��	��������	��1	������	� E=

3�7� ������ ����� 	�� '1�/�	������

E$F$E� %���	���,����������� EF

E$F$�� ������*1C�+��	������ EF

E$F$=� 1�������*1C�+��	������ E?

E$F$F� 1�����	�����+���	��� EJ

3�8� !����� ��#�%������ � ������ 	�������������� � 	��'1

E$?$E� A���	��&������������ EI

E$?$�� +�	���������� ������ � �*1C� ��

3�9� ���%������ � 	�� '1�/�	������

E$H$E�  ������	�� ������� � � �%�	������� ��

E$H$�� !��������	�� ������� � � �%�	������� �F

E$H$�$E� 9�����A����	��������	��� �?

E$H$�$�� !������A����	��������	��� �H

��



E$H$�$= +�����A����	��������	�� �H

E$H$=%��������� � � �*1C�������� �J

!-/�.����� � ��$�����������#�%�

E$J$E ������	������ � �,�������1�������� 	���,������	��������������	��	� �@

E$J$� &�5���2���"��� �������������� ���	�� �I

E$J$= &4�!� ����	��+���� =E

E$J$=$E ���������&4�!� =�

E$J$=$� %��������������� !	����������	� ==

E$J$=$= 1�����������&4�!� =F

E$J$=$F %�����2��������!	������� ���	��6%�A!7 =?

E$J$=$? 1�	��2!�����������������1	���������	� =H

E$J$F -	����+��������� =J

E$J$F$E ��������	�����-�	������ =J

E$J$F$� ,�������	�����-�	������ =J

E$J$F$= 4	���	��9��� ������������	����	��� =@

E$J$F$F C�����	�� �����������	����	��� =I

E$J$F$? 9���2+������������������	����	��� F�

E$J$? ,��������%����������� � � �	���2*1C�+���� FE

E$J$?$E &4�!��+����%���������� FE

E$J$?$� -	����+����%���������� F�

��������54� � � �����#�� ���� � ��� �� �

5�3� ��"�� ������#��&��#����

�$E$E� 1�����	���	���-	�� 	����	�� !��������� F=

5�5� �������#��(���� ���!-/�.�����

�$�$E� 1�����	�����������&4�!� �+���� FF

�$�$�� '�������	���-�	��������������&4�!� �+���� F?

�$�$=� -	� � 	����	���	���&K����������������&4�!� �+���� F@

5�6� �������#��(���� ��� ������ ����

�$=$E� 1�����	�����������-	����+���� FI

�$=$�� '������� 	���-�	��������������-	����+���� ?�

�$=$=� '�������	��1������������������&4�!��	���-	����+����� ?=

�$=$F� &K�������� 	���-	�� 	����	�����������-	����+���� ?F

���



5�7� � �������(���� ���!-/�.�����

�$F$E� 1�	������ � �,������������ ����������L����� ?H

�$F$�� ,�������������L	������ ����������,�	���� ?�H

�$F$=� ,����������� �.������������ !�����,�	��� ?J

�$F$F� ���	��,������������&4�!� �+���� ?J

�$F$?� ��	����	������ � �A�	�� !����� ?@

5�8� � �������(���� ��� ������ ����

�$?$E� ,�������������1��(��	������ ��,��������� �,������� ?I

�$?$�� ,������	������ � �1��(��	����,����������%�	������ ?�I

�$?$=� ,������	����� � �1��(��	����,����������1������1����	����	���� H�

�$?$F� %�������	������ ��,�������9�	������2B����	���	��������	�� HE

�$?$?� 1�������	������ � �1��(��	����,������� HE

�$?$H� !��������� � �,����������!�����,�	��� ����	��� H�

�$?$J� ���	��,������������-	����+���� H�

�$?$@� ,���	�	������ ��%�	������' !� � H=

���������6� ���� 74� � ��&#��

6�3� !)�#&������ � 	����������� ��������

=$E$E� !���	�������� ��,������������ ����������,�	���1�	����� H?

=$E$�� ��������	��+���	������ � �,�������� H@

=$E$=� +������������1�	�	��������� !��	� HI

6�5� /����)����������.����� �������)���� ���� �����	�����

=$�$E� &�	��	������ ��!�	�����%������� J�

=$�$�� &�	��	������ ��&�5����1��(��	��� JF

=$�$=� &�	��	������ ��&�5����1��(��	���%������� JH

=$�$F� ��������	������ ��.������� !�	�����%�������� J�@

=$�$?� 9��	�����	��,	�	������� @E

6�6� /�����#� '#�����#�����#:.��#����� � 	�'#�����#�����

=$=$E� ���������	������ � ���	������%	�	� @�

=$=$�� %������	��� !	������ @H

=$=$=� !�����������	��� !���������������������	��&�	��	����� @J

6�7� ;&������.���� �������/����)��. ����� �������)���

=$F$E� ��������	��&�	��	������ � �,�������+���	����� @@

=$F$�� +�������� � �1������1�����	����� IE

����



=$F$=� !�����������	��� !���������������� ������� !�����,�	��� I=

6�8� !)�#&������ � 	��������'�����%�� 	��������

=$?$E� 1���	������� � �11'� 	���,'!� 	��%������1�	�����'������� I?

=$?$�� +���	������ � �,��������1�	����%�������� IH

=$?$=� �����	�������� �������� !����������������%������ ��	����� ������ I@

=$?$=$E� +������ � �0,4�1��(��	��� I@

=$?$=� � ��������� � � �!������������1��(��	���%������� E��

=$?$F� ��������� ���	��,	�	������� E�E

6�9� ;���#�!)�#&������ � 	�� '1�!-/�.

=$H$E� 1���	������� � �������	����-�	������������������������ E��

=$H$E$E� ���	��� � ��&E� !	������ E��

=$H$E$�� ���	��� � �B��	����� !	������ E�=

=$H$E$=� ���	��� � �!��������������,	���� E�=

=$H$�� !�����������	��� !������������ � M��2�����/�&�	��	������ � �&4�!� � E�F

=$H$=� ,������	����&�	��	�����	�� 	��&#����	�� !���� E�?

=$H$=$E� *1C�&4�!��&�	��	�����-������� E�H

7�3� !)�#&������ � 	���������� ��� ��������� '����� ��$����

F$E$E� ���������� � �+����1	���� E�@

F$E$�� ���������� � �,���������� �1	��� ����	��� E�I

F$E$�$E� %�������	������ � �!��������%�������� EE�

F$E$�$�� !�������� � � �1	���� EEE

F$E$=� +����9��� 	��	��� ���������	������ � �-������� EEE

F$E$=$E� +����9���	������*1C�-	�������	�� EEE

F$E$=$�� ���������	������ � �-������� EE�

F$E$F� +������� � ��1�	�	��������� !��	� EE=

F$E$F$E� �����	�� !�����������	��� !����������� EEF

7�5� .���� ���� ��� /����)��������.����� �������)�������� �����	�����

F$�$E� ��������	������ ��.������� !��������%�������� EE?

F$�$E$E� +�������� � �1�����	���������� �1� EEH

F$�$�� ��������	����� � �����	�������	�����+����� EE@

F$�$�$E� !�	����������	�����+���� EEI

F$�$�$�� ,���2�	����������	�����+���� E��

F$�$�$=� &�� �� �������	�����+���� E��

�#



�

7�6� ���	��������!)�#&�����:.��#����� � 	�'������������� ����

F$=$E� ��2�������1�����	��+��	�� E�E

F$=$�� +��	�� !�����������	��� !����������� E�F

F$=$=� &#����	��,������	����&�	��	����� E�?

F$=$=$E� &�	��	�����-������2,*4!�� '�������	�� E�?

F$=$=$�� &�	��	�����-������2�����������1��������%������ E�H

��������84� � ���&�����

8�3� /����������� 	����%������ � 	�� '1�/�	������� E�J

?$E$E� -������� !��������� � � �!����� !	������ E�J

?$E$�� 4����	������� � ��������	��� ���������� ������������-���	���� E�@

?$E$=� ���������C������� �������%�������� E=��

8�5� ��)�#��� �������� ������������� � 	�� '1�.������ 363

?$�$E� 1�������� 	��.������� !�����,�	��� E=�

?$�$�� ,	�	������� 	���������1�	����� E==

?$�$=� +�����K������� � ����	��.������	����� E==

?$�$F� +������������ � �B��2����������'������� E=H

?$�$?� C	��	���������&4�!��	���-	����+����� E=J

8�6� ����&���� 	��������� '�&�#��%����� �&��	�������� �&���%���)�#��� ���� E=@

8�7� '���������� � 	�.������"���� '&������� ��*���-������� EF�

�������� H�� ' �� �#&����� EFH

�������� <4� � �$#��%������ 37=

��������=4� . � � �� � ����� ��2�NC��

N



.����.'�

*��	������ 1� ��� �� 6*1C7� �	�� ����������� ��� EI@I� 	��� � 	�� ����������� 	�� ���� �	��	�����

	����� � � ����2��� ���2'� ���	�����$� +����2�����	�����&4�!� �������K����� ��������	����� ����

���� � � � 	�������� ��������� �� � 	��� ���	������ 1� ���	�� ��������� 	��� ����� �� � ��	������ *1C�

���������� ��� ������ 	�������� ��������	����$� -	���� ����������� 	��	�� 6-�'�7� ��������

����������� 	���������� ��������� �� � ��������	�� 	��� ���2��������	�� ���	�� ��������$� -+2,1-� ���

���	�������� 	�� ���� ����� ��	��	��� � � � *1C� -B�� ���������$� �� ��������� ������� ��� ����

���������� 	��	��� ��������������	�����	���������	������1������������������ 	��� ������	����$� ��

�������	����������������������� 	������ ��������*1C���	���� 	����� � �����������	�����$

+��� ������������ � � �K�	���	����� 	���2*1C����������������A� 	�������� ������ ��� ����������

��� ����� �����$� �� ����������� ��	��� 	��	��� ����	���� ���� ��������� �	����� ���������� �	��

���������� ����������� ��	��	��� �	���	������$� +��� �	���� �����	��2�	���� 	��	��� ����������

���� ���� 	�� �����2��2�	���� ��K������ ��� �	����� ����	�	����$� ��� ��� 	� ����2��������� 	��	��

��K������� ��� �	���	����� �K�������� ��� ����	���� ��	�����$� ' ���� ����	��� �������� ������

���������� ��������� ��������� ���� ���2��������	�� 	��� ����� �������� � � � ���� *1C� ������$�

.������	����� � �� 	��	��� �	�� �	���� ��� �������� ����� ��	�	��������� ���	$� ,������	����

��	��	����� � ��������	��� 	��	���	�� �	������ ���� ��� ?=�� �	������ 	��������� IJ$IO� ������������

	��� I=$HO� �����������$� � ����	�� � � �J?E� �	������ ��	��	���� ��� ���� �	���� 	��	�� ��������� ���

II$FO� ������������	��� I@$IO������������$

#�



�������� 	



3�3� ��������� 	�1���#����������

3�3�3� �#���� ������ ���� ;���� � ����� � �� ������

*��	������ �������� ��� ���� 	�����	�� ��������� � �� ���� ������ ���� �� � ���� 	������ � �� ���������

�	��������� �	������ ��������� 	��� ����	��	����� � �� ���	���� ������ ��� ��������� �	��	�����

	������ ����� 	�� �	�����	�� ������� ��#����� �#�������� 	������� ���	"�� 	��� 	� ������� � ���������$�

-���	���� �	�� ����	���� ��	�� ���	�� ���	������ ������	����� ��#� �	(��� ���	�� 	������ �����

������������ ������������	�	����������� 	��� ��������� �������������	�� 	���������� �	�������� ������

���� ���������� ������	�����$� +��� �������� ��� �	�� ����������� 	��� ���	������ '�� ���	������ ���

���	������ %� 6����	� ���	�����7�� ���	������ 1�� ���	������ &� 	��� ���	������ A$� +����� 	��� �� ��

����	��������� � �����	�� ���	������� ����2������ ���	������6���	������ �� 	���&7� 	��� �����2������

���	������6���	������'��1��%�	���A7�60����� EII@	7$

��� EIJ��� ��������� ����������� �	�� ����� ��� ��������� ���	������ '� ������ 6*'C73� 	� F����

������2�������� ������ �	�������6%	��� ���� � $�� EIJ�7�� ����	���� �	����� ������ ���	�����$� *'C�

��� ����� � ���� ����	����� 	��� ����� ����������� ��	�� *+C� 	��� ��� ��	��������� �������� ������

	��� ������������ ����� 	�� �����	�� ������� �	���	�� ������������ ���	��� ���"�� ��	��� 	��� �	���	$� ���

����	���� 	��	���	����������� ���	�����%B�����������	��������	������	�	� ������� ���	����������

������� �-B���������� ��	��������� ����� 	� ������ ���	��� ��������%B��6L���� ������� � EI@�7$�

*��	������ � �6����������� ���	�����7� �	�� �������������� ��������������� ����������� ��� EIJ=�

	��� ��� 	� ������� ���	����� -B�� ������ 69��������� ��� � � $�� EIJ=7$� ��� ��� ��	��������� ���

����	���	���� ����"���� � 	���� 	��� ����� 	��� �����	���� �������� ��� ���� ��������� 	���

�	���	��� ����������� ��� 	� ������ 	��	$� *��	������ %� ������ 6����	� ���	������� *%C7� ������

���������� ��� EIJJ�� ��� 	� �	������� � � �	����� =H��� ��	������ � ���� 	�*'���� ��������� ��������

����� *'C�� 	��� 	� ������������ ������� 6-�55����� ��� ���� � EIJJ7$� *%C� �������� ���� ����

��������� ���� ����	�	����������� �	����� ���������������� �	�������� ��� ������$� ��� �������� �������

����������������� � � �*'C���� ������	��� 	��� �������$� +��� ����	������ ���	��������2��������� 	���

���� ��� ���� ��2����������� ��� *'C�� *%C� ���������� ��� ���������� ��	� ���� *'C� �	�����$�

*��	������ 1� ������ 6*1C7� �	�� ����������� ��� EI@I� 	�� 	� ������� ���	����� -B�� ��������� �����

	� ��	��������������F���� 	���@����61���� ������� � EI@I7$� ��� 	�������� �������� �	(������ � ��

���2��� ���2'� ���	������ �	���$� ��� EI@@� ���	������ &� �	�� ������ ��� ��� 	�� �������� ���2��

�



���2'����	������6&+2B�B'7$� ������ 	����2���������� �������	�� ������� ���	�����-B���������

��������� ������ ��� ���� ����	�� .��	��� �����	� 	��� ��� ��������������� ���������� 	��� ���

	�����	���� ����� � 	��������� ���	������ ���������� ��� ������ ���������� 6'�	������ EI@@7$� +���

��������� 	��� ������ � � � ��	���������� � � � ���	������ &� ��������� ������ � �� ���	������ �$�

*��	������A�������6*AC7����	��-B�������� 	����	�� ����������� ��������� ��	��	�� � �	��	������

���������� ����� �������� ���	������ 64������ ��� ���� � EIIH7$� ��� ���� ����������� "����� ��� ��� 	�

�	��	����� 	����� � ��	�����	����������� ���	������ 	��� ��� ����	��������	������ ����	������1������$

3�3�5� � ����)��� � � 	�� �� � ������ '� 1��&��>� '1?

�������	���� "��������� � ������ ����������� � � �* 'C� 	���*�C� ������� �	���� J�/�� 	��� @�/���

�������������� ���� ��� ���� ������������ � ����	���	���� ���������� 	��� 	����	��� ������	��������

�����$� +���� ���	���� �������� ���� ��	���������� � � � ��	��������2	�����	���� ���	�����$�

*�������� ��� ���	��� 	��	����� ��	�� ���� �	(������ � � ��	������� ����� ���	������ 	�����	���� �����

��	���������� ���� �������	���������* 'C�	���*�C$� 1	���� � � ����	�� ���	��������	�� �	����� ���

	���������� ��� *��	������ �� ��� '� �������� ��� ������ "��� �� ���	��������� 	������� ����� 	��

1������	��������� ����� ��������� ��� 	�� ���2��� ���2'� ���	������ 6B�B'*7$� +��� 	�����

�	������B�B'*�������� ���������	����� ����	������ ���������	���� 	��� ����"�� ������ ���	������

��������� �	�� ����������� 	����� 	� ������ 	����� 	�� ���� ���������$� !��������	�� 	��� �������

�������������������� ����������� ��� ������������ *�C� 	��� *'C�� �	����� ��� ������� �����

B�B'*�	���������������� ��� EI@I� 	�����	������1�������61���� ������� � EI@I7$

+�	���������� �#���������� ��� �����	�5���� ���������� ���� ��������� � � � 	�� ��	��� ����

��	����������� 	������ � ��B�B'*�� ���� � � � ������ ������ *1C�� ���� ������ 	����� ������ ���

����������� ���2���������� �	�� ���� ��� ��� ����������� ���� ��� 	� ����	���	���� �����������

���������� 	�K������ ���2��� ���2'� ���	�����$� +������� ������ ��	���������� �������� ���

�����	�5����� ��� �	�� ���	�������� ��	�� ���� �	��� 	����� � � � ����2��	��������� B�B'*� �	��

��"������ ���� 	�� ���������� ������ ����� 	� ��	������ ��������F�2@����6'�	����� ���� ��� � EI@J7$�

+����� �������� ��������� ���� �������� � � ������	�5��� ��	��	� "����� ��� ����	��� 	� ���	�������

����� ������ � �� ���� 	����$�  ���� � � � ������ ���	� � ���� ������ ��� ����	��� ����� ��	�� E�����

����������� �	�������� ���� ��� � � � ������ 	��� ����� 	����� ����	�� �	��	����� � ��*1C� ��� 	���	���

�	�� ��� ��������� �� � ���	��� ���	� ����� 	�� �����	���� ����� ������ 6E��������� �	�������G��7�

6'�	����� ������ � EI@=�� EI@?3�1����� ��� � $�� EI@I7$

�



��� �������� � ���������� ���	�� �������� ���� ������ �	�������� ��������� ����� ���� ��	��	� ����$� ��

���	���	����� ����� �	�� ��������� ������ ��� ���� ���������� � � � ����������	��� %B�� ��� ��	��

�������%B�����-B�������� ������ 	��	������	��$� +�����	�� ����� ���	���� ����	�� ����"�����

� ������� ���� ������� �	�� %B�� ��� -B�$� +��� ���������� �%B�� �	�� ��������� ����� 	�

�	��������	��� �#��������� ������� 	��� ���� ��� ���� ���������� � � � 	� ������� ������ ������

���	����� ����� 	� �	������ � ���� �������� ���2��� ���2'� ���	�����$� +���� ������ �	�� ������ ���

����� 	���������� �������� ������� ���	�� � ������	�� ��������	��� ���������� �������� 	�����61���� �� �

���� � EI@I7$� +���� �������	�� ����� 	�� 	������� ��� ������� 	� �	������ �����	������ �����$� ��� �	��

��������� �� � ��������	��� ��	�� ������ ��K������� ����������� �� � 	� ��������2������ -B��

��������� � � �	������ E������ ������������ ������ � 	�� ������ �� � ��� �������� ��� ���� ������� � ��

��������� �����	�5���� ���� �	�� ���� ������	���� �������������� ��������	��$� ����	�� ������������

���� ������ ��������� �����	������ ������� 	�� ��������	����� ������� �� � �������� ������� �����2�

��������� ������$� +����� ���� ������� *1C� ������� � 	�� ��K������� 	��� ���� ���������

����������� ��K������ �	�� ����������� 	�� ������ 	��� ��� ���������� �����	���	���� ���9������

� 	 �6���� ��������E$�7$

=



3�5� ���&��&��� �	�����1���#�������

��� ������ � ������ ��������	���� 	������ � ��"��������� ��	�� �	�� ��� �	�� ����� 	������	���� ����

������	�� ���������� � ��*1C� ���	���� �������	������"����$� *��	������ 1� ������ ��� ����� 	�����

?�� �	��������� ��� ��	������ 	��� ��� ��� ��	��� ���� ������� �	����� ��� ����������$� ��������

���	������1� �������� ��	���� ��������������� ��	����� 	� ������� ����������$� +�����	����������

�������� ���������� ��������	���� ����*1C� ������� ��� ��� 	� ������� ���	����� -B�� ���������

� �� ��������� ���	����� ����	������ 	����#��	����� E������ ������������ ������ ������� 	�

������������ � ��	�����=����� 	����� 	�����69������ �	7�61���� ������� � EI@I7$

3�5�3� . ����� �� � 	����� 1��&�

+��� ���� �������� � ������ ������ 	��� ���� ������������ ��� ���	���� ��������� �������� ��	�� ���� ������

�	�� 	� ������ ����	������ ��������$� �� ����� � � ��������� -B�� ��� ����������� ��� 	� �����������

������ � � ��������� 	����������� ���	���� ������� ������ ��������$� +�������	������ ����������	������

�������� ���	���	����� � � �*1C���� �����	����� ��	�� � � ��������� � � �����9�	�������	�� �	������ �����

	�� ���� ��	���������� 	��� ������������$� +��� �	��� ��	�� ���� �������� �	����	�� ��� -B��� �	�����

��	�� ���� ����� ��	���� %B��� ������ ���	������ 1� ���� ��	�������� 	��� �	�������� 	������� ���

���	����������	�� ������	��� �����K������� ������� ����� ������ � � ����������$�  ��	������ ������

���K������� 	��� �	������� 	������ ���� ������� ������� � � ����� ���	�� -B�� ���������� ���	����

������� ������ 	��� ��� ���������� ����� ������ 	��������� ��	�� ���� ������� ������� �	�����

���������� ����� 60����� EII@�7$� *��	������ 1� ��K������ ����� 	� ��	��� 	������ � � �-B�� ���

������� ���� ����� ������	����� ������� ������ ������� ��	�	����������� ��	�� �	�� ��� �����������

������� ������� ������$

+��� K�	������ � ��������������� �������� ��� ���� ��������� ���	����� -B�� �������� ��� �����	��

��� ���� 9�	�������	�� �	����� ������ =����2F����� 	����� 	����� 69������ �	7$� ������ ���� *1C�

��������� 	��� �������� ��� 	� ������� �	���� ����� ��	����� ��	��� 6.-97� ��	�� ��� ��������� 	�� ����

?>� ������	�� ���� ��� 	�� ����	���	���� ������� ���������� ��K������ 61��������� EIIE7$� +����

������� ��� ������	��� ��� ���	���	������ ��������� ���	���� � ���������� ���"	��$� +��� ������������

�������� ��� ���� ��	���������� ��� ���������� ����� ��������	�� 6!7� ��������� 	��� ���2��������	��

6B!7� ���������� +��� ��������	�� ��������� ����� ���� ���	�� �	������� �����	�� ���� ���2��������	��

��������� 	��� ��������� ��� ������	����� � �� ���� �����$� !����	�� ��	�	����������� �	��� ����

F



�������������������*1C��������61���� ������� � EIIE3� +	"	��5	�	� ������� � EIIE7$� +���*1C�

������� .-9� ������ ���� 	� ������������ ����	������ ��������	�� ��������� 	�� ���� ?>� ���������

	��� ���2��������	�� ��������� 	�� ���� ���������	��� 	��� =>� �������$� +��� *1C� �������

��K������ �������� ��������	�� ��������� ������	���� &� 6��������7��  � 6�	���#7� 	��� 1�

6�������	����� ��� ����7� ��������� ��� ���2��������	�� ��������� B!E�� B!��� B!=�� B!F� 	���

B!?� ������	����� ���������=>� ������	�$� +���������� �	���� ��� �����	������� �������� ����*1C�

������� 	��� ��	�� � � ����� ��	�������� 	��� ����������� �	������ *1C� ��� ��	�������� 	�� 	� ���	�	���

�������������������	�����	�	��6*���5� ������� � EII�7$

!+-�1+�-�4�,-.+&�B! B.B2!+-�1+�-�4�,-.+&�B!

@A � 3+5� 3+5� 677 5<=� 9B+� 6+=� ++=

C�� D� �

6

' ! # !5E0�F 0�5 0�6 0�7 0��

8G

��H��> ��?� : D 3 + � 66� <5 HP 339

B� .�����.����� 6BBB

	�������� �� ����������� � ������ � � ��������� ����������������� �������� ������������� � ���! �

� � ��������������������� ��������������������������"�����������#�������� �����	

��� ����������� �������� � �� ���� *1C� ������� ���� �� � ���� ��������� ��	������	������ ����

���������	����� � �� 	��� ���� �	����� ��������� � � � ���� ����� .-9� �	�� ����� ��� 	������� ��� ����

��������� ��������� � ���� ���� ������ ��	�����	�	�� �	����� �������$� +���� ��� ���	���� ��� �	��

���� ����� ��������� ��� ������� ����� ��������� � �� 	���	��� ������ ��	�� �����	�5����� 	��� �	���	��

����������� �����	���� �������� ����� �������	�� ������� �	�"���� ��������	����� 	���������� �	�	����

� � ���������	���������������������	���	���������������������������$



3�5�5� � ������ �� � 	 �����1���#� � �� �� �

��� �	����� ��������9������ �	 �� ���������� � ������ ��������	�� ��������� ������	�������������� �������

���������� 	����� B2��������� ��� ���� ����� ��������� 1�� ����������� � �� EI�� 	����� 	����$�

,�������� ���� ������ J�� � �������� ��� ���� �	���#��������� ������ ��� �	���� ��� ���� ��������� �����

�������� � � ����� ��	�����	�	�� 6+	"	��5	�	� ��� ���� � EIIE7$� +��� ����� �������� ������#���

����� ���� �������� -B�� ��� ����� ���� �������	����$� +��� 	����� 	���� ��K������ � � � �����

�������� ������ ����� ���������� 	����� ���������� *1C� ����	���$� +��� ��#�� �������� ��� 	�

=="%	� ������������� ������ ��� ���� ���	�� ��������� 	��� ��� "����� 	�� & �� ��� ��=?�

6+	"	��5	�	� ������� � EIIE7$� ��������� ��������� �������������&��� �	�� ��� �����	���� 	�����

���	�	��� ��� 	� �����	��� ������� ���� ���	�� �����������$� +���� J�"%	� �������������� ��J�� ���

&�GB!E�� ����������� =FF� 	����� 	������ �������� 	�� ���� B!E� ��������� �	"��� *1C� �����

�����	�� ��� ���� ������������� �	����� ��	�� �� � ��	���������$� !�������	��� �	��	������� �	�� �����

������ 	����� ���������� *1C� ����	���� 	��� H�O� � � � ���� 	����� 	���� ��	����� �	��� �����

	���������� �� � ���� �������������� ��������� ��� ���� ������	��	���� ���	��� 	�� ���� (��������

�������� ����& �� 	���B!EG&�� ���������==� ������ ����� ���������� ��	�� ��J�� 6+	"������ �� �

���� � EII�3�L������ ������� � EIIE7$

+������2��������	�� �������� � � ��������	�� ������� ����� ���	���� �������������� ��	����������

	��� ������������$� +���� � ���� �	��	���� �������� ������� ��������� ����� ��������$� B!E� �	�����

��������������J���������������������B!�� ����	������ 	����#��	����� �J@� 	����� 	����� 	���

B!F� ����	������ =I@� 	����� 	������ 	��� �������� �� � ��� �����	��2�������� ��������$� B!=��

����� H�I� 	����� 	����� ��� �������� �� � ��� 	� ���	�� �����	��� 	��� ����	���� 	�� B2������	��

�����	��$� B!?�� 	� EEH"%	� �������� ����������� II@� 	����� 	����� ��� �������� �� � ��� ����

������	���� 	��-B�2����������-B���������	���6 ������	���,�������� EII�7$

3�5�6� � �� ���� �� � ����� �� �����

9��������� ���� ���������� 	��� ���������	����� � � � *1C�� �����2����� ���	�� ����	���� �����

��K������� 	��� ����� ������	����� ��� *1C� ���������� � 	�� 	������	���$� +��� ����	����

�	����� � ������ -B�� ��������� ��������� 	� ���	������ �	����� 	�������� ���� ������ �� � ��������

���� �������� �	��	���� � � �������$� +��� ����	���� ����� ���	�	���� ����� ��������� ���������� �����

���������� ����������� �������� ��������� 	��� 	��������$� +��� ������	���� � � � ����

��������	����� � � �*1C� ���������� �	�� ����� ���	�������� ���� 	� ������� � ����	����$� C��	��

��������� �	�� �������� 	�� 	� ������	���� ��������	��� �	��	���� ����������� ���� ���� ��	��� � �

H



������������ � � �*1C� ���������� 6D����� ��� � � � � EII=7$� !����	�� ���������� �	��� ���K���

�����	����	�� ��������� �	"���� ����� ����������� �	�"���� ��� �������������	�� �������� 6Q����

� �� ��� � EIIH7$

������ ���� ���������� � � �*1C�� ���	�� ����	���� ����� ���������� �����	����	�� ���	������ 	��� �����

���� ������ ������� ��� �� � ��� 	� ������� �������� �����$� %��������� ����	���� ������� �	���

���	�	���� ����������	���� ����� ��������� ���������$� &	����	(������������ �	�� ������� ��� ������

��������	�� �������� ��� ���� �� � � � ������	������ � ��	����� �	����� ����� 	��� ��������� � � � ������

�	�	��� 	��� ���������� 	��� ���	�� ���� �������$� +��� ���� � � ��	������ ����������� ��������

	��� �������� �������� ���� ����������� �	����� ���� K�������� � � �� ������� 	� ������� ����	������

������ ��� �	��� �������� �������� ����� ���� ������� 	��� 	������$� +�� �������� ���� ������� 	�

��	��	��� �������	����� ������� �	�� ��	��� ��� 	��� 	������ ����� ���*1C�����	���� �������

6+	���� �	 ��1������J7$

.�������G

 ���
1�	�	�	 !������� 0���	�	 &�������

*�������G

1�		

,��(*7!��

������

� � �	 � ,+ � �	

�� �� �� � 0E �� ��

��

��� ��� �	 �� 0�	 ��� �	

�C �C �� �� 0�� � ��

�� � ��

C = �C =	

C� C �C =�

F F	

C ?	

H	

$� ��� ���� ��������� ����� � � � � ������#�� ������������� ��������  ����� �� �

����������������  �� ���������� ���� ��������� ����#�%� $��&������ ��� ����� '((')� ����� �� �

����� '((*)�+���� �������� '((*)� ,&������ ��� ����� '((*)� �������� �������� '((-)� �������� �

���� ��� '((-)������������������ '((.�

J



%��� ��� ���� ��K������ �������	������ ���� ?>� ���2������� ������� 6?>� B1-7� ��� ���� �	����� ����

����� *1C� ���������� 	��	��� 6D����� ��� ���� � EII=7$� *�������� ���	���� ����� �������

����	���� ���������	�����	��	���� ��K������ ����������� ������K���� ���� ����������� *1C� �	���

������� ����� ���� �#	���	����� � � �	� �������� ������� � � ���	�������� ��K������ ��������������

����	��	���� �����������������������?>�B1-�6 	���	��� ������� � EIIJ7$� -�����������9�	������

4������ ,������������ 6-94,7� 	�	������ 61����	������ ��� ���� � EII?7�� ����� ������ 	��	��

64�,�7� 	�	������ 6!������� ��� ���� � EII=7�� 	� ������� �����	����� 4�,�� 	��� -+2,1-�

	�������	����� � � � ���� *1C� ?>� B1-�� ����� ��������2��������� �������� ����� ���� �	�����

����������������� 	���������#	������ � � ������������K���$

��� �#	����� � � � 	� ������� �����	����� 4�,�� ��� ���� ��������	���� 	�	��	���� �BB.24�,��

*1C� ��R$� ��� ��� 	� �	���� �	��� 	��� ��������� %B�� ��������	����� ����� �	���� ��� ���� M��������

��������	����/� ���������$� +��� ��#��	(��� ������ � � �*1C� �	�� ��� ��	����� �������������� ��� �����

	��	��� ������ ��	������ ����������� ���� ����� � � � ������� ���� ������ F�� ?� 	��� H� 	��� ����

���������� ������� ���� ������ E� 	��� �$� A�������2��������� ���������������� ������� 	���

������������ 	�� �	�	����� ������ ��� ��	��2��2���� �����	��� ������� 	��� 	��� ����������� �����

�	����� �	����	���	������������	�"	����������	�	��$

���� � � ������� ������K���� �	��� ������ ����� �������	���� ����� %B�� ��K�������� 	��� 	���

��������	���� �������� ��� �#������ ��	�� ������� ��K�������$� *�������� ����� 	��� ����������� ���

������ � ������ ������� � � ������� 	��� ��������� ��������� 	��� ������ ��� ���������� �� � 	����� ���

�����	����� 	��	�� ����� 	�� ����  ������ &	��� 	��� 9	�� &	��� � ����� �������� ����������

��������	��$� -������ �������� �����	��� ����� ���������� ��� ��������� ��� ���� �$!$� 	���&������

	�� 	� ������� � � � ��������	���� ������	����� 	��� ��	����� ��������	����� 	� ����� ���	���� �	����

��	���� ������������� �	������6Q���� ������� � EIIH7$

-������� ������� ��K��������� 	�� ���������� 	������ ��� ���� ������ ��	������ ��� 	� ������	��

�	���	����$� +��� ����� ����� 	��� ���� ����������� � � � %B�� ��K�������� ���� ���� ��������

	�	������ � � ����� ?>�B1-� ��������� ���� ������������ 	��� 	�����	����� ��� EIIJ� 6+�����L	���

+������������� ���$��  	������� L��$7� � ��	� ������ %B�2�	���� ����������� �	����� 1��	�	���

9�	������4������,������������ 6194,7$� +���194,� ����������� ������� ��� ���� ����	�����

� �����K��� ������	��� ����������� ��	�� ������� �����%B����� 	������� �� � ����� ���������� ������

��	�� ���	���	����� 6.���	� ��� ���� � EI@I7$� +����� ����������� ������ 	�� ������	���� ���� ����

���������2��������� 1��	�	��� �� ��5����� ������ �	�� ��� ����� ��� �����	��� 	� ���� � � � ���	�	���

��������� ����� 	��� ������ %B�� ��	������ 6'���� ��� ���� � EIIH7$� 9���	����� � �� �����



������	��� ����������� ��� �#K��������� ���������� ��� ����������� ��K������ 	��� ���� ��������� � ��

��K������ �������������� �������� ��� ���� �����	����� � � � ���K��� ������������ � � � ���	�	���

��������� ��� ��������	�� �������������� ���� �	��� ��K������ 	�	�����$� 194,� 	�	������ �#��������

��������� ������	����� ��� ����������� ��K������ �	�	� 	��� �	�� 	���� �� � ������������ ���	��

���������� ���������� ��� 	�� ������� 	�� 	� ������� ����������$� '������� 	�	������ � � �194,� �	�������

����	������� �	������������ �	������� � �"����� ������������������ ��� 	�������������	�������

E��O� ����������� ����� %B�� ��K�������� 	�� ���� ����� 	��� �������� ������$� 9������������

194,� ��	������ ��������� �	��	������ ������� 	� ������ ���������� �����	����� ��	�� ����� �������

��� ����	���� ���� ������������ ���� 	���	�	���� � � ����� � �� �	��� *1C��	��	���� ����� ������ �����

�������	��� ����������������������	����	�����6 	���	��� ������� � EIIJ7$

3�5�7� � ��� - �	�� ' � �#�� � 	�� �� ������� '

+������	������1������� ����� 	��	������������ � 	��� ������� ������ ������ ��� ��������� ���������$� +��

��� ����� ��� ����� �	������	�� ��������� �������� ��� ���� ������ ��	�� �� � 	������ �� � 	� ��������� ����$�

+���������������� � ������������������	����������	��	������	���	��� ����������� ����$� +�������

����� ��� �������� ���� ������ ��	�� � � � ���� ������ � ���� ���� ����/�� ������ �����	��$� +���

�����	��� ����� �������� ���� ������ 	��� ���� ���	�� ����� ������� ���� ����$� &�5����� �������� ���

������������ 	��� ����������������������������	�� ��� ����	����������	��-B��������� ����$

+������	��-B������� ��������� ����/�� ���������� ��� ���������� �������� � � ����	�� ������������$�

C��	��-B����������	����� �����������	�������������� ����/�� ���������������������� ��"���-B��

��� ����������� -B�� ��	�������	��$� .���� ������ ��� 	��K�	��� -B�� ��	�������	���� ���� ���	��

-B�� ����� �	"�� ���� ���� �������� �	����	�$� !���� � ������� -B�� ����� ����	��� ���	�����$�

+��� ����������� �������� ��	�� � ������ ������ ��� ��������� ��� ���� ���������� 	��� 	���������

	������ ���� ���� ���	�� -B�� �������� ��� � ���	�� �	�������$� +��� ���	�� �	�������� ����� 	�

�������	�� ������� �	����� 	� �	������ ��	�� ������ ���	����	���� ���� -B�$� +��� ���������� �	�������

��� �	����� 	��������	����$

+��������������������������	������ ����� ������� ��������� � ����� ��	��	������	��� 	��� 	��	���

��� ��$� +�����	��	������	��� �������������� ������� ���������	���� ���� �������������������� �����

	� ����������� ������ ��	�� ������ ��� ����� ���� ��� 	��	��� ��� 	������� ������ ����$� &	��� ����������

������ �	�� �������� �����	���� � � � ���������� ���������� ��� ��������	��� �	�	��� �� � ���� ������

60����� EII@�7$

I



3�6� '#�����#�/�	������� � 	����������� '�1��&�

1���������� ������ 	��� 	����#��	����� ���� �������� ������� �����2����� ���� 	��� ��������� �����

*1C$� 1������� ������ ����	��� ��� ���� ������ ��	����� �	���� � � � ��	��� 	����� 	������ ��� ����

������� !�	����� 	��� 	�������� ���� 	����#��	����� �?����� ��	���� 	���	����� ��� 	����#��	�����

EO� � ��	��� ��	���$� ���������� ��� ���� �$!$�$� 9����	��� EIII� ���������� ��	�������� *1C�

	�������� ���� ��O� � ���	���� � ��	����� ���	������� J�O� � ���	���� � ���������� ���	������� F�O� � ��

�	���� � �����2��	��� ����������� H�O� � ���	���� � �����	��������	�� �	������	� 	��� =�O� � � �������

��	����	����6!�	��� EIII	7$

*1C� ���������� ��� ���� ����� ������� �������� ����������� ���������� ��� ���� ������� !�	����

6������ ��� ���� � EII@7$� ��� ������	����� ����� ���	������ '�� ��� ���� 	�������� ���� J?O� � ��	���

�	���� � � � ������ ����	��� ����	���$�  ���� *1C2��������� �������� 	��� 	���� =�2FI� ��	���

6 �S����	�� ��� ���� � EIIJ7�� ����� ������ � � � ��������� �������� ��	������ 	���� 	�� ������

�������	������ ����� �������� ������ ����	��� �����	���� �����$� ��� ��� ���� ����������� ��	�� ����

������� � �� ��	���� 	�������	���� ��� *1C2���	���� �������� ������ ����	��� ������ �����	���

�����	���	�����������������#�� E�2�����	��$� 1���������� @����� ��� E������ ��	���� �	�����	�����

�����$!$� 	��� 	�������� � � �*1C� 	��� ��� ��� �����	���� ��	�� ��� ���� ��	�� ��E��� =������ �� �F������

�	������� ���������	���	����� ��*1C����	���� ������������������	��$

*1C�	���	������ ��� 	���	"�-B�������� �	�"���� ���� ����������� � � �������������� ��	�� ��������

������������ ���������������	���������� ������	��%B�$� B������������� ��� ��� ��������� ��� 	�������

���� ���� �	(������ � � �B�B'� ���	������ �	����� �	������ H�O� � � �	����� �	���� 	��� ����� I�O� � ��

�������� �	���$� +����	������������ � � �*1C���� ������	��� ���� ����	����� �	�	���� � � ����	�����

����� ������� ������	����� 	��� ����������� ��� ��������� ������ �	������ �	������ �������� � ��������

�	�	��$� +��� �#����� � � ������� �	�	��� ��� ��	������ ������� ������� � � ������� ��5����� ����� 	��

	�	����� 	������	�����	��� 6�4+7� 	��� 	��	��	��� 	������	�����	��� 6�!+7� ��� ���� ��	��	$�

+��� ��������� � � �*1C2-B�� ��� ���� ������ 	��� ������ ��	�� 	� �	(��� ����� �����	����� ��	�� ����

������ ��� �������� 	��� ������	����$� +��� ��������� � ��*1C� ���������� �	����� ����� ���� 	�����

��	���� ����� ��������� ������������ ��� �������� ���	������ �	������ ���������� 	��� ���	��������	��

�	������	�6*117�61��������� EIIE7$

E�



3�6�3� . �&��� � '1 � /�	������

���������	������1������������ 	�������	�����������	��� � �����������$� -���	�����	�� ��������	��

J?O� � ���	���� � �� 	����� *1C� ���������� 	��� ���	������� 	�������	���� 6������ ��� � � � � EI@I3�

�	��� ������� � EIIE7$� H�O� �	��� ��� ������������ ��������3� ��2=�O� �	�� �	���(	������� 	���

E�2��O� �	�� �	��� ���2��������� ��������� ����� 	�� 	����#�	�� �	�	���� ��� 	������	�� �	���

6������ ��� ���� � EII@7$� +��� �����	����� ������� � � �*1C� 	���	��� �� � ��� ����� E?� ��� EH�� �	���

	�����	��������	������ � �*1C2����	���	���������� ��������� �����	������� ����� 	������ � � �F?�

��� ??� �	��$� ��� ���� �	��� � � � �	������� ���� �	��� ��������� ��������2�	����� ��������	�����

�����	����� �������� � � � ����� ��	�� =�� �	��� �	��� ����� ��������� 6'	����� ��� ���� � EI@E7$�

*�������� 	� ����� ��	������� 	��� ������� ����� �	����� � ���� 2� �H� ���"�� ��� ��������� ��������

�#������� ��� *1C� 	��� ���� ������������ � �� ������	�� 	����� ���	������ 6������ � �� �/�� � EI@I7$�

+��� ���������� � � � ������ 	���������� �����	���� ��	�� ��������������� �	�� �	"��� ��	���� ����

��	�� ����� �����	���� ��� ��� �$=� ���"�� 6 	������ ��� ���� � EII�7$� ��� 	����#��	����� ��O� � ��

�	�������������� � � ������������������������ 	���2*1C�����������$

����	�������� ������	��������� 	�����	���� ���	������ 1�� ���� ����� ��������*1C� �#������� 	���

���� ������ � � ����	���� ���	�� ������	����� ��������� ��� *1C2-B�� �	�� ����� ������ ��� ��� 	��

������ 	�� ���� ���"� 69	���� ��� ���� � EIIE7$� ��� ���� �	���� � � � �	������� ���� ��� ���� ��������

�����������	���������� �	��� 	����� ����2��������� ������������ ��������������� ������� ����� �����

���K������� 6������ ��� ���� � EI@I3� B�����"	� ��� ���� � EIIE7$� ����2*1C� 	�������� �	�� ���

��������� ��� @�O� � �� �	������� ������� E?� ���"�� 	����� �#�������� ��� 	����#��	����� I�O�

������� ?� ������� 	��� ��� IJO� ��� H� ������� 	����� �#������$� -	����� ��� ���������������

���	����������I� ������� 	������#������$

9�����	����� �������4+�������� 	���	���	�	������������	����� � � ����	������1� ����������6������ �� �

���� � EI@I3�  �������� T� 1�������� EIIE7$� +��� ��������	��� 	�����	����� ��	�� �#����� ��������

������ *1C� 	�������� 	��� *1C2-B�� ��������� ��	�� 	�������� �	�� ��� ����������� 	��

���������� 	�"���� � �*1C����������$� +������������ � ��	���2*1C�	���������������	������	�� 	��

��������	�� �	�� �	��� ����� ��������� ����� *1C�� �	�� �	������ ����������� *1C� 	��� �	�� ���

�	�	���� � � ���	���������� *1C� ���������$� *�������� ���� ������ � � ������ 	�������� �	�� �����

������ ��� ��������	����� ������� ��� �	������� ����������� ����� 	����� ���	������ 1� 6	����� E 2 F �

��	��7$� ���������������������	���� �����������	����������������6������ ������� � EIIE7$

EE



3�6�5� ' ���� ��� � '1 � /�	������

������ 	����� ���������� E?2��O� � �� �	������� 	���	�� ��� �������� ������ ���������$� !�	��������

����� ��	�� @�� 2� @?O� � � �	����� ���	������ 1� ���������� ������� 	� �������� ������� � � �����������

6%�����	�� ��� ���� � EI@=7$� B�� ������	�� ��� �������������	�� ��	������ 	����� �	������� �����

	����� ���������� �	��� ����� ������ ��� ��� ����������� � � �������� ����������� ���������� ��� ��������

����	���6������ ������� � EII@7$

-��	������� � � ����� ������ � � ������������ 	����#��	����� H�O� � � ��������� �	������� ��������� ���

���������� 	��� ��������� �� � ���	��������	�� �	������	� 6*117�� ���������� ��� ��������	���

���������� 	��� ����	����� �	���$� 1������� *1C� ��� ���������� 	�����	���� ����� 	� �����

��������� � � � ������ ����	��� �	������ ����� ���� 	�������	���� �	������ ��	��� ��� ������� ������

�	�	��$� +����� ��������� �����	��� ��	�� *1C� ��� ���� ������	����� �	��������� 	��� ��������

��������������� � �*1C����������	��	(����	����� � ������ �	��	������$� +�� ��������������������

�	������� ����� �������� *1C� 	��� �	������� ����� �����	���� ������ ����	���� ��������� � � ����	��

����������	���������������� � � ������� ������	������	�"���� ���������	��$

��� �	��� �	�������� ������������ � � � �������� ������ ����	��� ��� ���	����� ��� �����������

����	������ ��� ������ �4+� 	��������� ��������� 	��� ������������ � � � ������ 	���������� 	���

���������� ��������� � ��*1C2-B������ ����� ��� �	������ ������� ���� 	���� ��� ������ �������$� ���

����� �	�������� ������������ � � � ���	������ 1� ��� ���������� 	���	���� 	������ ��� ��	���

60����	�	� ��� ���� � EII�7� 	��� ���� 	�����	����� � � ������������ �4+� ������� ����� �������� *1C�

���������� ���	���� �����	�$� ��� EII?�� ��� �	�� ������ ��	�� ��� 2� F�O� � ���	������� ��� 	� ������

����� ������	� 	��� �������� ���	������ �	��� ����	�� ������ ����� �������� ����� ����	��

	������	�����	��� ������� ��� ��������� 	�	������ ����� 	� ���	��� 6*	�	���� ��� ���� � EIIJ7$�

+���������� �4+� ��������	����� �	����� ��� ����� ��� �#������ �������� ���	���� ��(���� 	���

����2�����������2��� � � ���������� �	������� ��� ������	��� ��� ���������� ������ ���������$� !����

��������	����� �	��� ��������� ��������� ����������� ���	������ 1� ������	� 	�����	���� ����� �����

����	�� 	������	�����	��� ������� 	��� ����	�� ��������	�� ��	����� ��� ������ �������6,������ �� �

���� � EII?7$

C	������ ������	�� 	��� �������������	�� �	������ ���������� ���� ��������� � � ��������� ���	������ 1�

	��� ���� �	��� � ������ ������������ �� � ���������$� !���� �	������ �������� 	��� 	�� ����������� ��#��

���	����� � � � ����	���� ������ �4+� �������� ��2����������� � � �* 'C� ��� *�C� ���������� 	��



	���������$� &���� ���� ���	"�� � � �� ����	��� 	������� � �� 	������� ��� �	������� ����� ��������

���	������ 1� ������ ���	���� ����	��� �����������$�  ���� ������� ������ ��(���� ��������� ���

������������� 	�������������������	���	���*1C����������������������� 	�������	������� 	������2�

�������� ���	�������� � � � ���	�� ������	����� ��� �����	���� ��������������� � � � ������ �� � ���	��

��(���$� +��� ������ ������� � � � *1C2-B�� �	��� ����� ������ �� � ��� ������� ���

����������������� �	������� ��	�� ��� * �C� �������	����� �	������� 6L������ ��� ���� � EII�7$�

������ ������� �������� ���������� ��� �	������� ����� �������� *1C� ���������� �	��� ������ ��	��

��������� ���������� � � �*1C� 	��� 	�����	���� ����� ��������� �	������	������ � � � ���� ����	���

6 	���	��� � �� ��� � EIIJ7$

3�6�6� � �� �����##&#��� ' � ���� � � �

*��	��������	�� �	������	� 6*117� ��� ���� � ������ ����� ������� �	����	��� ��� ����� ��� ����

������� �	������	���� ��� �����	�� 1���	� 	��� !�����&	��� ���	$� ��� ������ ����� ���������� 	��	���

����� �	���� � ��*11� 	��� 	�����	���� � ���� * 'C� ���������� �����	�� ��� ���� ���������� 	��	��

����� 	�� ���� ������� !�	����� ����� ��	�� �?O� � ���	���� � ��*11� 	���	�� ��� ��� ���	���� �� � *'C�

����������6%��'��������� ������� � EIIE7$

+��� ���������	����� � ��*1C� 	��� 	�	������ � �� *1C� ���������� �	��� ������ 	�� 	�����	�����

�������� �������� *1C� ���������� 	��� *11$� ��� ������� ��������� ��� �	�� ������ ��	�� *11�

���������� ����� ��� �	������� ����� 	�����	�� �4+� ������� 	��� ��� ������������ � � � �4+�

����	������ �	�� ������ ��� ��� 	� ����������� �	�"��� ���� ������������ �����	���� ���"� � � �*11� ���

��������*1C� �	������$�  ���� �������� �	��� ��������� ��	�� ���������� ��������� ��� E�2��O� � ��

�	������� ����� �������� ���	������ 1� ����� 	� ������� � ����2=�� ��	���� 	��� *11� ��������� ��� E2�

?O������ ����"���������	������	��	������ ����	����� � ����� ����	��$�&	���� �������� ���� 	���2*1C�

������ ��������� � ������������������ ���J?O� � ���	���� � � �*11� ���&������ 	���8	�	��6'���#� �� �

���� � EIIE7� �����	�� 	����� *11� �	������� ��� ���� �$!$�� ���� ����	������ � � � 	���2*1C� ���

�����	���� ����� �	������ ����� E=� 2� �IO� 6D�� ��� ���� � EII�7$� +���������� *1D� ����������

	���	��� �� � ��	�� 	� ����� ������	��� ����� ��� ���� �	����������� � ��*11� ��� ���� �$!$� ��	�� ���

���������&������ 	���8	�	�$� ,�������� ���	���*1C2-B���	������������� ������� �������������

� ���	������� ����� *'���2���	����� 	���2*1C� ��������� *11� ����������� ���� 	�����	����� � ��

*1C2-B�������*11� ����������6*����"�� ������� � EII=7$

E=



3�7�3� � ���� ��� � ��%�������

 ����	�� ������������� 	��� ���	�� ���� � ��	����� *1C� ���������� ��� ��������� 	�� ����� �	���� 	���

	�������	���$� 9��� ����� ��	�� ��#� ������� ���������� �����	�� ����������� ���� ����	��� ���

�����	������������	���$� +��� ��������� 	��� ����������������	����� 	��� ���������������$� +���

����� ������� ��������� ����������� ���������� ��	��� 	����� �����	�� ���������� ��� �	�����$�

+��� ������ 	��� ��������� 	�����	���� ����� �������	���� 	����� ���������� �������� ����� �������

�	���	� 	��� ���������� �	������ 	������	�� �	���� ����� � � �	��������� �	������ �������� 	���(������

	��� ���������� ��	�����	$�  	��� �	���� 	��� ����	������� ���	���� ����� ��������� 	���

����������� � � � 	� ���2��"�� �������$� �� ��������� � � � �	������� ������� �	�"� ������ 	��� ������

��������� ������� ������������(	������� 	��� �������� � ������ �"��$

4�� � ������ ����������� ��� ������ ���� ��������� ��������	�� ��� �����	���� 	�������	���� ���� ������

������� ����	������� �	�� ��������� ������	���� ��������	���� ������� ������������ ��������	����$�

+��� ������� � �� �������� ������ ����	��� ��� ���	���� ����������� ������������ 	�� 	� ����� �	���

�������� ��������� ��� ������	�� ������ ��� ���� �	(������ � � ��	������� ������� ���� ������ �� �� ���

����� ���	���� 	����� ���������$� 9��K�������� �������� ���	������ 1� ��� ���� ����������� ������

	�������	���� �	������� 	��� ����������� 	�� *1C2��������� ������� �����2������ ����������� ���

����	�����4+�������� 	��� ��������� ���������������������	�� �#	���	����$

3�7�5� . �&��� � '1� � ��� �� �� �

������� �	��� � ���#���������	������� ���K���������� ��� 	������$� ��� ��� 	������� ��� 	����� �����	�����

������� ��� 	� �	�	���� ������ 	��� ��� 	������� ������� ��� 	������$� ��� �	���� � � ���������� ���� ���

���	����� �������������������������� ����	������� � � ���	���	������	�������	"�����	��$

+��� ���� � ��	������	�� 	������ �	�� ����� ������� ��� ���	���������� ���� ���� ���	�� ���� � � �	�����

���	������1���� ������������ �������������� � �����������	�����$� ���������� �	�� ����� ����� �����

������� �������� 	��� ������	�� ���	��� �	��� ������ ��	�� �	���	�� 6=2����������� �	�� ���������� ���

������������ ����	��� 	�������� 6.�	�	� ������ � EIIE7$� -�������	��� 	2����������� ������� ���

��������������������2����� ������ �� � � ���������	��$

EF



3�7�6� ' � ��� ��� � '1 � � ��� �� �� �

%��� ��� ���� ��������� � �� �������� *1C� ����������� ���������� ���	�� ����� � ���� ���"��� 	�� ���

������� ������������ �� � ���������� 	��� *11$� +����� 	�� ���	����� ���"� � � � ����� ������������

�������� 	���2*1C� ��������� �	������� ����� ������������� ����� �4+� �������� ������	���� *1C�

-B��	��� 	�������������������	������ ����	������������ �������	��	����$

-��	������ ��� 	� ���������� ������������ ������ ������� ���������� 	�	����� �����%B�� 	��� -B��

�������� 69���	���5� ���� � � � EI@H7$� ��� �	�� ����� ����������� ��� ��������� ��	��	���	��� �������

��� �������� ���	������ 1� ����������� 	�������� ����� ����� 	������ ��� ����� ���� ��	���	��� *1C2�

-B������� ������ 	��� ��� ������� ���������� 	�	����� ���	������1����	�� ������	����$� ��� ���������

����� �������� ����� 	�� 	�	���	�� 	� ���	����� �	����� ���� ������� ��	��������� ��������	�� �	���	��

��	�	������ �����	�������� �"����	����� 	�����	���	$

�� ����� ���������� ����	��� �	�� ��������� ����� ���� 	��������	����� � � � ���� 	������	�� 	�����

	���	� ������������ 6	2����������7$� ����� �	����� ���"������ ������������ ��� ��� ��������� � � �	��

�	��� 	�� ��#����� ���������� ��������� ���"��� ���������� ���������6&����	��� ���� � � � EI@�7$� +���

��(���� � �� 	���2���	�� ���	�� ���� � � � *��	������ 1� ������ ���������� ��� ��� ������	��� ������

������	����� 	���� ������ �������� ���� ������������ ��� *1C� ���	���� �������� ������ ����	��$�

������������ 	��� ��������� ����	���� ��������� ��� ���� ������� ������� ��� ��������� �� � 	� ���	��

���������$� +������	���������������� �������� ���������������� � � ������������$� +���� ��� ����

	��	�"� ��� �������� ������� ��� �	��� ����� ������� ��� ���� ����� ��	�� ������	���� ���� ����������$�

.��������������������	�2-B����� 	����������� ������ ��� 	���� 	�� 	��	�������� � ������������ �����$�

+��� �������� �	��� � ������ ���������� �	����� ������������� ��	����� �������� ���� ������	�� ������ ���

���� ����� �	��� ���������� ���� ����������� � �� 	������	�� ��������$� +����� 	������	�� ���������

�����������������������������	����$

,	�����������������������������	��������� � � ��4+� ��������	���� �� ��� ������� ����������	����

����� ����������� 	�� ���	�� ���� �	�� 	���	���� ������� ������ ��5���� 	�����	������$� +��� 9%��

69���� 	���%����� ������	����7� ����� ���� 	������� ����������� ���� ���� ���	�� ���� � � ���������

������������ 	���� � ��E@2H�� ��	���6������ ���� � � � EII@7$� 1����	�����	������ ������	�� ���������

����������� �������� �	(��� ����������� ��������� 	�	����� �����	�������� ��������	���

����������������� ���	�� ��	����	��	����� 	��� ��������� � � � 	���������� ����	��$� 9��2��"��

��������� �#���������� ��� ���� ������ �2=� ���"�� � � �����	��� ���� ��������� ����� ����������

���	�����$� !������	���� ����	��� ����� ,	�	�������� � ���������� ������ �� � ���� ��(������� 	��

E?



������ H� ��� @� ������ 	�� �������� ��� ���	���� ����������� �� � �������� ���� ���2��"�� ����� ��������� 	��

����� ����"���� ������� � ��� 	���� 	��� �����	�� �#������$�  ���� ����������� ������� ��� ���	����

����� 	���2�������	���� ������ ���� �	������ ��������� ����������$� ,	������� ����� ������� ���

�	���2����������� ��� ������� ������	�� ���	����� ������� ���� ��� ���	���� ����� ����������$� ,�����

��� ���� 	��������	����� � � ������������ ����	���� �	������ 	���������� ������� ��� �	��� 	��� ����

���"�� 	��� ��������� ���������� ����� ���� �	������� 	�� ������ ���� ���	�� ���� ��� � ���� �	������ ��	��

���� ����	��� ��������� 	��� ���� ����� ��	���� ��� ������������� ��� ?2E?O� � ���	���$� *���� �����

���������������������	������������� �����	��� � � �����������$� ����������� �	�� ������������� �����

�	����� 	��� �����	��� ���� ������� � � ������� ������ 	��� ��	������ ������ ��� ���� �����$� 1�����

������� ��� ����� ���K����� ����������� ��� ������� ���� �	���� ���������� � � � ����� �	�����

������������6!�	��� EIII�7$� *�������� �����	(������ � ���	��������	"���� ����������� 	��� 	����

�� � ����������� �� ��"�����2����� 	��� �	�����������������	�� �	����	���������$

��� EI@H�� ������ ��� ���� ���������	����� � � �*1C�� ���� ������ ������� ��� ���� ���� � � �	2�����������

������� ��	�� ����� �	������� ����� �������� B�B'� ���	������ �#���������� �	���� �4+�

����	���	����� ����� ���	���� ����� ����������� 6*����	���� ��� ���� � EIIJ7$� ��� ���������� ���

���	�����*1C2-B������� ���������==O� 	��� ���������� �������������������?�O� � ���	�������

���	���$� +���� �	�� �	���� ��� 	� ������2���"��� ���	��� � � ����� ���� � �G��� 	��� �. �G���

���� E�� ������� 6%	���� ��� ���� � EI@I7$� *�������� ���� ���	���� �	���� 	����� ���� ����������� � ��

���	�� �����	�� �����6	����#$� ?�O7������ �����	���� �4+� ������� 	��� ��	���	�	���� � � �*1C2�

-B�$� .���� 	����� �?O� � ���	������� ������� 	� ����2����� ��������� ��� ����	��$� '�� ������

������������� � ��	2�����������	��� ��������������	�� ����������������������� � �������� 	��������

��������� �	��� ��� ��������� ���� ���� �	��� � � � ���	���� ����� ����	����� � � � ���	�� ���� ��� ����

��������	����� ���������$� �� ������ �	������ ���� ��� EI@H� 61��������� EIIE7� ���	�������� ��	��

��������� ��� 	2����������� ���	�� ���� ��� ������	��� ��� ���� ���	��� ����� 	��� ���� ���	����� � ��

���	�����$� ��� 	���� ������� ��	�� 	� ��������� ��������� ��� ����� ��� �	����	���� ��	���������

���	������ 1� 	����� ����� ���������2	�K������ �	���$� +���� � 	�� 	���� ��������� ��	�� �	�������

��������������� � � ��������� ����������� ���	������ 	���������� ��� �	�� ������������ ��������� �	���

6HJO7� ������ ������ ����� ���������� �	�� ���� ������� 6F@O7�� �����	����� ��	�� �����������

��������� �	����� �	������������������ �����������*1C��	�������6*����	���� ������� � EIIJ7$

��� �	�� 	���� ����� ��������� ��	�� ����� ��������� � ��	���2*1C� 	�������� �	�� ��� ������� ����

����������� ����������� ����	��$� L����� ���� 	���������� 	�	����� ��������	�� 	��� ����� ���2�

��������	�� 	�������� 	��� ���� ����������� � � � 	� ���������� 	� ���������� ��� B!F2���������

	���������� 	��� ������ ���	���	�	���� ����� ������ ��� ��� 	�����	���� ����� ��������� ��������



��� ����������� �������� ���	���$� .����� 	������	�� 	���������� 	��� ����� �������� 	�� ����� ���	���

������	���� ������������ �	���� � �������������������������������� ����������	���$

3�7�7� ' ��$�������� � � ���� �

,	������� ���� �	��� ������������� 	�����	�� �4+� ������� 	��� ������	���� ������ *1C2-B��

	�����=� ������� � � ���������������	�� ���� 	�������"������� ����������� ���	�� ���� 	��� ������� ���

������������$� ��� ���� �	��� � ������� �	�������� 	� ������	����� ����	��� �	�� ����� ����������$�

+��� 	��������	����� � ������������� 	2� � � 	��� ���	������ �	�� ����� ������ ��� ������ 	� ����	�����

��������� 	��� ��	���	����� � ��*1C2-B�� ��� �������� ���	������ �	������� 6!���	��5� ��� ���� �

EII?7$� 1�����	�� �������� � � ��	������� ���	���� ����� ����� ������	����� �	��� ��������	���� 	�

�����	���	�� �����	��� ��� ���������� ����� 	��������	����� �	�� ������������� ��� @O� � ���	�������

	������F����"�� 	�������EO�� � ��	����������	��������F@� ���"��6!�	��� EIII�7$

1�����	����� ����	��� �	�� ����� 	�������� ��� ���� 9%�� ���� ���� ���	�� ���� � �� ��������

���	������ 1� ��� �	������� ���� �	��� ���	����� ���������� ����������� ���	�� ���� 	����� 	��� �	��

��� 	�������� ��� ���� ������� ���� �	������� � ��� �	��� ���� ����� ���	���� ����������$� 9�������

���	��� �	��� ���� �� � ��� ���������� ������ ���� ������	����� ����	��� ��� ���������� ��� �����

���	�� ���� �	�� ����������� ��	���	��� ���� ���������� ��� 	�����	������� ����	��� ���� ������������

� � ����	�� 	��� ����������	��� 	�������$� !������������� � �������	���������	������������������� 	���

���	������ �������� ������ �#������� ����� ���� ���� � � ������������ 	����� � ���� ������ ���K��� ���

���	�����$� +��� ����� ������� �������	���� �	�������� ����� ������� ����� ���	������ ���� ���

	�	���	$� ,	������� ����� ���2�#������� 	�	���	�� ����������� ���� ������ ����� ������� ���"�����

��	��� ����	��� ������� ���� ������	������������	������ ��� ���������� �����������������$

��� ���� �	���� � � � �������� ���	������ 1� ���������� ���� ���	���� 	����� ���� 	��������	����� � � �

������	����� ����	���� 	� ����	��� ������� �������� �� � �������� ���������� 	���� ��� 	� �������

�#������*11$� 4�������	����	��	����� �	����� ����2�	����� 	�� ����� ��	��� � � ������� ����	��� ���� ���

������� 	��� ��������� ����������� ��	���� �	��$� +���� ���	������ ������� ��� �������� �������	����

���	������	��� � � ������� ������$� 9���*1C2��������� �	��������������������	����	��	������ ��U

������������� 	�������������	�$

��� �������� ������ ��� ��� ���������� �	������ ���� ���	������ 1$� +���� ��� �	������ ���� ��� ���� ���	��

�	��	�������� ���������� � � ����	������1� 	����� ����� �������K����� ���	����$� .���� ��������� �	��

����������������� ���������� ���	���� ���������� �������� �	��	������ � � ��������������� ���� ����� � ��

��������$� +����� ������������������������������� �������� 	�	����� �����	��	������ ���� ���	��



���	���� K���"��� �	"�� ����� 	��� ������� ����� ��������	��� ���	���� 60����� EII@�7$� +�����

������ ��� ��� ��	�	�������	�� 	� ���	������� ����� ����	������ 	�	����� ���� ���	��� ����� ��� ����������

	�	����� 	��� � ������$� ��� 	��������� ���	������1� ������	�������� ����2�������$

*�������� ���� ������� � ���#�������� ����	���� �	�� ���� ��� ���� ��������� ������������ � � �	�*1C�

�	�����$� ��� ���� ������� �����*1C� ��������� ����� ���������� �������� � ������ *1C� �������

����� �������� � ��� 	�����	���� ����� �������+2����� ���������� ���*1C2��������� �	������� ����

����������������������� ����	���6!�	��� EIII�7$� +��� ���������� ���� ����������	���� ���������

���������� 	����� 	���� ��K������� 	����� "�����*1C� ���	����� ��������� ���� ��"�������� � ��

���	��� ���	���� ���	����� +2����� ���������$� !���� ���������� 	����� ����� ������ ���������

����������� ��������� ��� ������	��� +2����� ����������� ���������� �	����	���� ���� ����

������������� � � �	� ����	������� +2����� �	���� �	������ 	�	����� *1C$� +2������ 	��� ��������� ���

��	�� 	��������	��� ����� ��� ������������ *1C� ���������$� ,	������� � ��� �	��� ���������� �����

*1C� ���������� �	��� �������� +2����� ���������� �����	�� ������ ���� �������� ��������

����������� �	��� ��	"� ���������$� +�� ��� ���������� ���� *1C� �	������ � ���� ��������

����������� 	�	����� ��������� ���	���� � � � ���� ������ 	��� � ���� ������� +2������ ��������� ���

���������� ���	�� ��������� ���������� ���� ���	������ 1� ������ �	�� ��� 	���� ��� ���	��� ����

������� ������/��	��	�"$

��� 	��	�� � ������� ���������� � � �*1C� ����������� ���� ���	�� 	��������	����� � � �	�*1C��	������

������ �������	���� ��� � ���� ����2���������� ��	�� ���������	�� 	�������� ��������� ���������$�

!���� ���������� ������� ������	����� ��� ��������� ��� ���� 	��������	����� � � ����� �	������ ���

�	������� ����� 	� ���	����� ���������� ��������$� ��� ��� � ���������� 	��	��� ���� ���	��

	��������	����� � ��	�*1C��	�������	����� 	�������� 	�����	�������	�� �	����� ���������$� +���

	��������	����� � ��	� �	������ ��� ���2���"� ������� ����� 	�� ������� 	��� ������� ��������� ������

	���� ��� � � ��������$� +��� �������� � � � �	������ 	��������	����� �� � ���������� *1C� �	�������

������������������ ������� ��������� �#������$

9������� ����	���� �	�� ����	���� ��	�� 	� ����5����� ����� �� � ��������� 	��	�"� *1C2-B��� �	��

������ ��� �������� ���	�� ������	����� 6!�	��� EIII�7$� +��� ��5����� ������ ��� �����	���� �������

��������� 	��� ��	�	���� ����������� � � � ���	������ 1� ���	�� ������	������ �	�� ����� ������ ��� �	���

������� 	������	�� 	�������� 	��� ��� �#������� ��� ��� ���������� 	�	����� 	��� "����� *1C� ���������$�

L���� ��������� ����� ���� 	���2���	�� ������ ������������ ���� ����5���� �	�� ����� ��������� ���

��������	������	��������������$� +�������������������� ���������� � � ����� ��5���� ������#� ������	��

�� �����������	������ ��*1C�� ��������� � �������	��������������� �����������$

E@



3�8� !�������#�%������������ � 	�������������� � 	��'1

3�8�3� �#�$�#� ! � �� �� ��#�%�

+��� �#�������� � � �*1C����������� �	�� ����� ����������� ��� �����	���� 	��� �	���� � � ����� ������ ���

������ ���������	�� �������� �	�� ����� 	�������$� ��� ��� 	� ����	�� ����	��$� . ������ ���� ��������

��������� ������� �����2����� ����� ����� �������� � �������� 	��� ��� ���� ������� !�	���� 	��� �����

�������� ���L�������&������ ����� ���� ����	������ ����� ������� ���&	������&�����$� ��� �������

	����� �������� � ��	��� 	����� ���� ���� �������� ���������� � � �	����� ���	������1� ��� ������ 	�����

�������� 	���� ��2=I���	��� 	��� �	���� ��������	��� ���������6������ ������� � EII�7$

*��	������1� ������ ��������	��� �������� �	��	����� ���� ��������� �����	������� ��������� � ������

���K����� �	���� � �����	����� 	��� �	���� ���������$� +����	�������������� 	��� ����������	��� ���

����	������ 	������ ���������� �������� � � ����� �����$� +��� ����	������ � � ����	������ 1� ��� �������

��� B�������� &�����	�� ����������� ���������� A��	�� '���	���� A���	��� 	��� 9�	���$� +���

����	������ � ��*1C� 	���������� ��� ������ ������� 	���	���� ����� ��	�� EO� ���� ����� ������$�

*������ �	���� �	��� ����� ��������� ��� !�����	��� ���	�� ����������� ���������� ����	� 6E$?O7��

 	�	���	� 6�$=O7� 	��� ���� ,����������� 6�$=O7$� +��� ���������� ��� 8	�	�� �	�� E$�O$�

��	������ �	���� ����� ��������� ���� �	��� �����	�� �	������� ��	������ 	�� ����� 	�� EF$?O� ���

&����$� +����� �������� �������� ��	�� ����� ���� �������� ������� 	������ ���������� 	��� ���������

����� ���	������ 1�� 	�� ����	��� ���������� � �� 	������ =$=O� � �� ���� � ����/�� �����	����$�

!�	������	����� 	���	���� ������� ������ ������� 	�����������������*1C�	��	��������*�C$

+��� *1C� �	������ ��	��� 	���	��� �� � ��� ����� ������� 	�� ���� �����2��������� ��������

����	���� ���	���� � � �������� �	���� � � ������� ���	�����$� � � ������� ����	������ � ������������ ���

������ 	����� ���� �����	�� ������	��� 	��� *���	����� ��	�� ��� ������ 	����� ���� ������

�����	����$� �������������� !�	����� 	���2*1C��	�� ��������� ��� �$?O�� �������������� ������$�

��� �����	���� 	���2*1C��	�� ��������� ��� J$EO� � ��*���	����� 	��� @O� � � ������	�� ������	���

6 �S����	�� ��� ���� � EIIJ7$� ��� ���� �����	�� �����	������ ���� �������� �	���� � � ����������� 	���

������ ������� ���� 	���� � � � =�2FI� ��	��$� *���� ������������ � � � �	��������	��� 	��� 	����

���������� 	���������������� ������������� ��	����	�������*�C� ������ 	���� ������������ ���	������

1� �����$� +���� �������� ��� ���� �������� ���"� � �� ����������� �	��������	��� �����	������ ����

����	��$

EI



+��� ���	����� �	��	����� ��� ���� ����	������ � � �*1C� ���������� ������� 	����� ������ �����

���������� ���"� �	������ ���� ���������� 6������ ��� ���� � EII?7$� +��� �������� ����	������ ��� ������

	����� ������ ����� ������� 	��� ����	���� �#�������� �� � ������ ��� ������ ��������$� +���

���������� �	���� �����	���� ������ ����2���"� ������� 	��� ����������� ���� �	������ ���"� �������

6��������� ���� � EII@7$

*���2���"  �����	��2���" 4��2���"

����	������� ���������� 4���2���� ��	�����	����� * �	�����	���� ��"���G

�	������ *��������� ����	��

*	��������	�� ,���������������������� �  ����	������������

��������� ��#��	������

+��������	����� ������������ ,�������� ����	���������� � C��������������� ������

�	�������������	��� ��#�	������	��������

����	���

-����������� � ���	��������� ,������������	�����	� ���	������� ������������

�4+������� �������

+�	����	����	������ *�����#�	�����

$� ���� �� 0����� � �1����������&�����#������������������� � � �����������

3�8�5� � �� � �� ������ � � �� ��� � 	�� ' 1

*1C������	��������� ����	��������������	���� �������	���� ������� ������	������ �#�����������

������ ��� ������ ��������� ����� 	�� ��������� �	������ ��� ���������������$� *�������� ����"��

�	��� ������ ������ ������ �������� ����� 	�� ���� *+C� ������ �����	���� 	��� ������� � � ������� ���

������ ��������� �������� � ��� �	�	���� � ���	������������������ ����� 	����������� ������� ����� 	��

	������ �	5��$� +���� �	"��� ���	������1� ������ �	�� ����� ��	����������� ��	�� ����� ������ ������

������������������������*�C$� +��������� ��� 	���� �������� ��� �	���	� 	��� ������� ���� ����������

� �� ����������� 	����� ��� ������ ����������� ����� ���� 	���	�� ��� ��� ����� ������� ��� ����� 	�

��������	������"�6������ � ������ � EII@7$

+������	�����������	���� � � ������� �� �������������#�������� 	�����	�����������	����������

� ��*1C����������	��������� 	��� ����	������� ���������� �	�� ��	����� ����������6������ ������� �

EIIJ7$� ��� ���� ������� !�	���� E?� ��	��� 	���� ���������� � � � *1C� ��� ������ ��	��������

��



	���������������O� � ���	���$� +��	��� ��� �	����� 	���������������������	�K���������������$� ���

�����	���� ��(������2����� ���� �	�� ������������� 	��������� ���� 	� �����	���	�� ����������� � ��

*1C� ����������� 	��� ���������� 	�������� ���� H�O� � � � *1C� ��	���������$� �� �����

����������� � �� ����������� ���������� ��� ��� 	�����	���� ����� ��(������2����� ����� ���� ����

��	�������	�� 	��������	��� ���� ��	�	���� �������� ��� ���������� � � �	��������	������1� ������ EI@I�

������	���������	������	�������	���� 	���������	������� ����� �����$

.����� ������ � �� ��	���������� � � � *1C� �������� ����������� ��� �	������ �	��� ��� ������	��

�	���	����� ���"�� �#������� �� � 	� ��#� �	������ � �� ���������� ������� ���� �	�� �	�� 	� ��������

� � ����	������� �#������� ��� ��������� ��#� �	�������� 	��� ��� � �����2��������� ������ 6������ �� �

���� � EI@�7$� +����� �������� ��������� ��� 	�����	����� ����� �����	��� �������� ��� �#��������

���������� ����� �����	�� ��� ����	�� ������������ �	��������� 	������������ �	�� ��������� ���

�������� ��	���$� � � ���	���������� ����� ����� �#�������� ����� ������� ���� ���K������ ������ ���

���� ������� �������6������ ������� � EII@7$

+��� ����� � �����	��2�������� ��� ��	���������� � � �*1C� �	�� ��������	���� ��� 	� ������ ��� F��

��	����� 	���2*1C� ���	����� �������� 	��� H?� 	�������	���� �������� ����� 	���2*1C�

	�������$� '����� �	������ ����� ���������� ����� 	��� ���	���� 	�� ������ 	��� 	�� E�=�H�I� 	��� E��

������$� ���� ���	���� ����� ���	��2���$� '�� ������ �������� ����� � � ����� ��#��2����� ��������

���������� �������	���� ������ ����	��� 	��� ������ � � � ������ ���	���� ���������� 	����� ���	��

���	�����$� B����� � ����� ���	������ ���	���� �	�� ��������� � � �������������� ��� E� ��	��	��� 	���F��

������2���	��� �	���� ����� ���� �������� ������ ���	����� ���	����$� +����� �������� �����	���

��	�����	��2�������� 	����� �������	����*1C��������� ���������� 	�������6!�	��� EIII�7$�

�� ������ �	������ ���� ��� A���	��� ��� EIIE� ������� ��	�� ��������� ����� *1C� �	�� 	� ���	����

	������� ��� ������ ���� ���������� ��	�� ��� 	�����$� +��� ���������� ���	���� �������� ���	�� ���� ���

?�O� � ����������� ���� 	�K������ *1C� �������� ��	��� ��������� �����	�� ��	�� ������� �	��

�������O����	������6!�	��� EIII�7$

�E



 ������� � � ����������� � � �*1C� ���������� �	������ ���	��� 	�	��	���� 	����� ���� ���������	�����

� ��*1C� 	��� ���� ���	�� ������$� +��� ���������� � � � ������ 	���������� 	��� *1C2-B�� �	��

������� ���� �	���� ���� ��	������� � ������������ 	��� � �����	�� ������	����$� '	���� ���������� ������

������ ���� ��5���� ������	��	�� 6&��7� ����	�� �������� ���� ������	����� � � ���������	��� 	���

���������� *1C� 	�������� ���� ���� ���������� � �� 	���2*1C� 	���������� ��� �����$� 1���������

����	���� 	��� ������������ ��������� 	�� ��������� ��������	��� ����������� 	��	��6-�'�7�

��������������� ��������	�� ��������	�� 	��� ���2��������	�� ���	�� ��������$� ��� 	������ �#��������

	��� ����������� ������ ������ *1C2-B�� ��� ��������� ��� 	� ������� "����� 	�� ��������

��	����������� �������	��� ��	��� ��	������ 6-+2,1-7�� ������ ��� ����� 	�� 	� �������	����� �����

��������������� ������������ 	�������	������������61��������� EIIE7$

3�9�3� � �#��&#��� � ����� �� � 	�� ��%�����

��� �������� ���	������1� �	�������� ���������� � � �*1C2-B�� ��� �������	�� ��� ���������� ���*1C�

������	����� ��� �	"���� ��	��$� !����� 	��� ������ *1C2-B�� ��� ���	���� 	�����	���� � ���� ����

���������� ��	���2*1C�	���������� ���� ��� 	����� ��������	���*1C��������� 	���� �	�� ����������

���� ����� ������	���� *1C� �	�"��� 6L������ ��� � � � � EIIE7$� +��� ����������� ���������� � ��

*1C2-B���	�� ������� ��� ������� ����� �	�"��� �� � ����������	��� 	����� ����� �������� �	�������

������ ������������� ���� ������	���� � ��*1C2-B�� ���������$� ,������	��� 1�	��� -�	������

6,1-7� �	���������� �������� ���������� � ��*1C2-B����� ������� ������ 	��� ���������	�� �����$�

+��� ���� � � � 	� ��������	���� �������	��� 	������ ���� �������	����� � �� ������ �������

����������	��� %B�� ��� -B�� 	��� �����K����� ��������	����� � �� �������� ��� ���� �	�����

��K����������� �����	�� ����� � � ���5��	���� 	�������$

+������� � � �,1-� ��������� 	� ������� � � ������$� +��� ������ � �������� ������ ��� ���� ���������� � ��	�

����������	��� %B�� ����� � �� ���� �	����� ������� � � � ���� -B�� ������� ������ ��������

��	�������	����������������� 	�����������,1-�������$� +���?>�B1-��	�� ����� ��������� ���

������� ���������� 	��� ��� ��� ���� ���������� �	����� ������� ���� ,1-$� +��� ��������	����� � ��

������ ��� ������ �	������ ��� ������ ����� ����� ��� ��	�� ���� �	��� � � � �������� ����� ���� ,1-�

��	������������������������������	���	�������� 	� ��	����� ���$� +������������	���� 	� ������� �����

��



� ��	�������	��������������������� !����������������	������� � ����������� ����	����������$� +���

����������� � � ����������� � � �*1C2-B�� ��� ���������� ��� ���� �������	����� � �� �	������� ����

	������ � �����������	�	��	����	������� ���������������������$

��������	����� � �� ���	�� �������� 	���� ��� ,1-� ��������� 	� ������� ���������� 	��������

������������ ����� � �� ���������� ���	�� ���������� 	���� ����������� �	�� ������� ���� �����

��	��	��� ��� �	���	����� ��	������$� *1C2-B�� ������� ��� ���� ������ ������� ������ �	�"����

	��� ������ ������� �	��� � �� ���������$� -������� � � � ,1-� ������ ���� *1C2-B�� �	��� �����

����	������������� � � �	�������������� ������������ 	��������������	�����	��	��$

��� 	� ������ �	������ ���� ��� EIIE� ����,1-2�	���� ����� �	�� ����	���� ��� ����������	��� 	���2�

*1C�	��	���6L������ ������� � EIIE7�� .����� 	���2*1C�61E��2=7�&4�!�V�� ������ 	���2*1C�

61 ���2=7�&4�!�V�� -�'�2E�� -�'�2�� 	��� 	�� 	�������� ������������ ����� ��������� ��� 	�� 	�

M�����	���	����/� 	��	�$� -������� ���������� ��	�� ���� ��������� � � � *1C2-B�� ��� ,1-�

������	���� ����� ����� 	���2*1C� ��	�������� �����	���� ��� ���� 	����� �������� �������$� +���

�	������ � �� *1C� 	�������� �	�"���� 	��� *1C2-B�� ������� ���������� ��� ������������ ���

9������ ��$

-�)�#���	

����#�%���#

���*���

/�	������� I� �������� J� ����)���� � I

	������� �� $���#������� � � �1�������� � � �������������� 234� ����40$ ������ ��� ��&��� �

�������� � � ������������ ���������� ������1���� ����1������ '(('!�

�=



+��� ��������� � �� *1C2-B�� ��������� ��� ,1-� �	�� ����� ����� ��� ����������� �	������

��������� �� � ���	�����$� ��� �	������� ����������� ����������� ����	���� *1C2-B��

���	���	���� ����� ���� ������ � � ������������� ����� ������������� ����	�� ������ ��������� ������

����"��� �������� ���� �F� ������� 	����� ����	����� � � ����	�����$� *1C2-B�� �	�� ���������

������������� ��� ���� ������ � � � ��������	��� ���� ���� ���� �������� ��� ���	�����$� +�����

��������� �����	��� ���� ����� � � �,+2,1-� ���� ����������� 	������	�� ����	��� ��� �������� *1C�

���������$

+��� �������� � ��,1-� ���� ���� ���������� � � � ������ *1C2-B�� �	�� ����� ���	��������� ����

,1-� �	�� 	���� ��������� *1C2-B�� ��� ������ ������� �	������ ����� �	������� ����� ��������

���	������ 1� 	��� ���������� ��� !�������� ��������� 6!����� � �� ���� � EIIE7$� +��� ��������� � ��

�����2���	��� *1C2-B�� �	�� ����� ��������� ��� ������ ���������� � � � �������� ���	������ 1�

����������� ���� ���� ��� ������ �	������ �����	����� ��	�� *1C2-B�� ������	����� ��������	����

��� ���� �����$� L����� ���� ���������� � � � *1C2-B�� ��� ������ ������� �	�� ���������� ���

������������ ���� ����� � � � *1C2-B�� ������	������ ���� ����� � �� ������ � 	�"��� 	��	��� ���

���	��	���� 	�� 	���������������������������� �	��������������� � �	���2*1C�	���������$

+�������� 	����	����	�� � � �	��������� ���� ��������� � � ������� �	�	��� ��� ��� ������������$� +����

����� ���	������ ���� 	�������� � � � ���� ����	��� 	��� � ������� � �� ���� ����	����� �	�	��� �	��

��������$� ���	������ �#	���	����� � � ����� ������ 	���1+� ��	��	������� ����	���� ��� 	������ ������

�	�	��$� *1C� ���������� 	������� ���� ������ ��� �	������ ����	��	����� ��	����� ��� ��	��� 	���

������������ � �������$� � � ����� ������ ��� ������������ ����	��	����� �	�� ���	���	�� 	��� ���� ������

�	�� �������	��� �����$� ���������� 	���� �	����� �	�	��� ��� ���������� ��������$� '����

����	��	����� 	��� ��������� �	�� ��� ����������� ��� ������ �������� 	� ������� ����� �����

����	��	����� 	��� ��� ��������� �����	������	�� �������������� � ������� ������ ����	��� ��� ����"���$�

.������ �������	��� 	� �������� �������� ��������� � � ���������� �����	���� 	� ��"���� �������������� �

����������6!�	��� EIII�7$

3�9�5� ����#�%���#� � ��� �� �� � 	�� ��%�����

��� ���� ��������� ��������� ���� ��	�������� � ������ ,1-2�	���� ����� �	�� ����	���� �� � ��	�� � ��	�

������� � � ���������	���� 	�	��	���� 	���2*1C� ���������� 	��	��� 69������ ��7$� +��� ��������

�������� ���� ���� ��������� � � �	���2*1C� 	���������� ��� ������ �������� �	�� ���������� ��� ����

�	��� EI@�/�$� +��� ����������� ����� ��� ���� ������������ � � � ������ ������ ��� ���� ��5����

������	��	��6&��7� 	��� �	�� 	� ����������� ��	������������� ���� 	������ ��� ��	��� ������ �� � ���

�F



������	����� ������� ������ 	���2*1C� ���������� ����$� +���� ����������� 	��� �����	������ ������ � ��

&���� 	���������������� �������	���� 	��	��������������������� ��� !������� E$J$

E$H$�$E� 9�����A �� ��	 ��� � � ���	��

��� EI@I�� ���� ������ ������ ���	��� 	�	��	���� 	��� ������� ���� 	���2*1C� ��� �����$� ��

��������	��� 1 � ��2=� 	������� �	�� �������� ��� ��	��� 	��� ��� ��������� ���� 	���������� ���� ����

B!F� ������� � � ����� ���	�� ������$� +��� �	������� 	���2*1C���� ����� ��������� ��� ������	���

	���2���	�� ��������������� 6��A7� �	������� ����� ��5���� 60��� ��� � � � � EI@I7$� !���������

��������� 	���21�E��2=� ���	���� �������������������� � �����2��	���������B�B'*�� ��� �� �H�O�

��� ����� ���������$� +���� ����� 	���� ��������� 	���2*1C� ��� 	����#��	����� H�O� � � �*1C�

-B�2��������������� �������6L	�	�	��� ������� � EII=7$

!������� � � �	���212E��2=� "�������� ������� 	����� ����2��	��������� ���	������ �������� ��	�� ����

	�������� ��� ���	���� 	������ ������� ���� �����	����� ������� 	��� 	����� ��	���� ���������

������	���� �� ��� ?�� ���"�� 	����� ���� ������ ������ ��5���� ����	�����6������ ������� � EII�7$� B���

	��� �	���� � � �����2��������� 	����� ���	������ 	��� ������	���� ��� ����� 	��	��� ���� ��� ���� �	��� ��	��

	���212E��2=� �	�� �	������ ���	���	�� ��� ������ ����� ��	��� ������	���� ������$� ����21�E��2=�

����������� ������	����� ���� ������ �4+������$� ��������	������ �	�� ������ ��� ����2���"��������

���������� ����	������� ����� ������ 6F@2@EO7� 	��� ��� �	������� ���� �	�� ����� ���������

��	�������$� ����21�E��2=� �	�� ��������� ��� HF2@?O� � � � �	��������	��� ���� ���������

�����	���� ������ ��� ������ ��������� ����� �	��� ������$� !����� 	���212E��2=� ������	����

�����*1C2-B�������������������� ������	��������$

%������� ���� �����	�� �������� � � ������ ������ ��������� ����� ��������$� � � ������ �	������ ���� ���

�����������	������ �	������� ������� ��	���	���� ��������� ��������� ���� ���	�����6 ��9	������ �� �

���� � EII�7$� +���� ���� ������������ ��������� ����� ���� ������ ��	�������� � � ����	�� ��A� �����

	������� �	������� ��� ���� 	�������� � �� 	� ���������� ��� ���� ������ ��	��� ���������� ��� ����

�������� � � ���A$� ��� ��� 	���� ��������� ��	�� ��������� ����5�2��	�� ������� � � �������� ����������

	���� ������������������� ���� ������������� � ������� �����	�����������6 ��9	������ ���� � � � EII�7$

1������������������� ��������������������� 	������ ������������������� � � ����� ��������� � � �	���2�

12E��2=� 	�������� ��� ���� ������ � � � 	� ����� ����������� � � � �	������� ����� 	���	�����������

�	������	�������������� ���� 	���������� 	�	����� �����G"������ ����������� 	��� ��� �	������������

���	��������	�� �	������	� 6 ������� ��� ���� � EII�7$� +��� ������������ � � � ������ ���������

�����������	��*1C����������� ��������	�����	������������ ���/�����������������$

�?



E$H$�$�� !������A �� ��	 ��� � � ���	��

��� 	������� �	�� �	��� �� � �����	��� 	��	�� ������������ ����� 	� ������2�����	����� ����� "�����

	�� ��������	��� ����������� 	��	�$� +���� ����������	��� ����� �����	���� ������������ ���

��������� ���������� ����� ����������� 	��� ����������� ���� 	������� ��� 	� ��������� ��������� ����$�

+��� ���� � � �	�������	�� ��������	��� 	�������� ��������� ������������ ����	���� ��� ��	�� �	����

���1E��2=� ��������	�����6L������ ������� � EIIE7$� B�� �	�����������������B!=� �������61==��

�������7� 	��� ���� �������	����� 6����7� ������� 61��� �������7� ����� ����� 	����� ����� ����

1 � ��2=� 	�������� ������ � 	�� �#�������� ��� 5������ � +����� ��������	��� ��������� �����

������������ ��� ��� ���������� �������� 	��� ����� ����	������ 	�� ��������� �	���� �����

������#���������	���6!.%7������ 	�� 	��������$

+��� ������������ 	��� ������������ 	�������� ������� ������2�����	����� 	��	��� ���������� 	� ���	��

������������ ����� ���� ������ �����	����� ������ 	�� ���� *1C� ����������� 	��� ��������� ������

���������� ����� ��������� �	������ ��� ������ 	��	��$�  ���� ��	�� I@O� � �� -B�� ���������

�	������ ����� ��������� ����	���� �� � H�O� ��� ������ �����	����� ������ 6L	�	�	��� � �� � � $�

EII=7$

E$H$�$=� +���� � A �� � �	 ��� � � ���	��

+��� ��������	����� � � � 	�������	�� 	�������� �� � �������� �������� ������������ 	��� ������������

������� ���� �	���� ���� ���� ������ �����	����� 	��	�$� +����� ������ ��������� ��������� ��������

����� ���� ������ B!=�� B!F� 	��� B!?� �������� � ������ �������� 	�� ��� ����  ���#� ����2*1C�

6C������� ���7�&4�!�W$� +��� .����� *1C� =$��&4�!�W���������� ���� 	�������� 1��2=�� 1����

�#�������� 	�� ���� ������������ ����������� 1E��2=� 	��� 1==��� 	��� B!?� ��������	���

��������$� �� ����� ��������� ���������� ������ �����	����� &�� � ��� ���� ������������� ���������

*1C� ��� ���W$� +���� ����������� ��	��� ����	�� ��	���� �����	�� �����	��� � �� ����

�����������	��� *1C� ��������$� +��� ���� � � ������� 	�������	�� ��������� 	������ ���� �	������

���������� � � ��������������������������*1C� ���������$� +��� ��������	����� ������ ������������

� �� ���� ������ �����	����� 	��	��� ������ ��� 	���������� �� � ������� ���������� *1C2-B��

����������� ��K���������	�� �	"�� 	�������� 	��������61 ���2=7� 	��	����	������ � ������$

�H



3�9�6� � ��������� � 	�� '1 � . ���%��

%����������� ����� ������������ 	��� ������������ � �������� ������ �����	����� ������ ����� 	��� ��	����

��� �������� ���	�� ����������� ������� �������� ��� ���� �	���� ��	��� � � � ���������� ������� ����

����������� � �� 	���2*1C� 	���������� 6���	��� ��� � � � � EIII7$� ��� 	��������� 	�������� ������

�	����� ������������ �������� �������� ����� 	���2*1C� 	���������� ���� �	��� ���������� 	���

�	������� �#��������� 	�� 	������ ���������$� +��� ���������� � � � *1C� 	������� ���� �����������

������	��$� ��� ��� ������	���� 	�� 	� *1C� �	�"��� ��� ������ �������� 	��� �	�� ����� ���������

�����������������	���� ������ ������������ ���������	�	��2�	������� ��������������� A�

6��A7� ��	������� ����� ���	� ��������� ��	������ ����� ��������	��� ��������� � �� ��������	�� 	���

���2��������	��*1C$

��� ������� ��	���� �������� ���� ���������� ���	�� 	������� � ���� ���������� ��� 	�������� 	�

��������	�� 	�������� ��� ���� *1C� ����� 	������� 6*1C���7$� +���� ������� ��� ��������� �� �

�	��� 	� ���� ������������ ���� ���������� *1C���� 	��� ��K������ ���� ��������	����� 	���

��	�����	������ � �*1C���� ����������� 	������$� .����� ����� ���������� �������� ����� ���������

��� ��� ������� ���� ����������� ����������� ����	��� �������� ������ ���� ������������ 	��� ����

�������	���� ��������� ���2���	�� ���� �������� �	"�� ��� ���������� �� � 	����� ����� ��� ���� �	���

���������� � � ������� ������$� +����� ��������� � ���� ��������� ��� 	� ����� ������� ������ ���

������������	������������ ������������2���	�� ���� ���������� ����&�� �����*1C����6���	���

���� � � � EIII7$� +��� ���������� ���2����� ������� ��������� � � �	�=�2������� �����	����� � ������

��������� ����� 	� ��������� ����	������ ������ ���������� ������ � �� ����������� 6+������ N2E����

1*�,!� 	��� ������� �������� �����	��7$� +���� ������� ������������� ��	����	���� ����

������������ 	���2����� 	�������� ��� ���� �	����� 	��� ���� ��������� � � � *1C���� ������ ���

������������� ��������$� +���� ��������� 	�� ������	��� ���	"�������� ��� ���� �	���� ��	�������

	��� ����������� � � �*1C����������$

�J



��� ������� ��	���� ���� �������� ���� � ��������	��	��� ���� ���� ���������� 	��� K�	����	����� � ��

��������	���� 	������ �����	����� �	�� ������� �����	������� ��������	�$� +��� ������	����� � ��

������������ 	��� ������������ �������� ��� ������	��	�� ������K���� �������� ������ ���� 	�� ����2�

���	�������� ��	�������� �����$� +����� 	��� �����	�� "����� ������K����� ������ �	�� ��� ����� ���

��������	�������� 	�	�����$� !���� ������K���� �������� ��5���� ������	��	��� 6&��7��

�	���������	��	���6-��7�� ������������������� 	��	���6�9�7� ������ ����������� ������� �	����

EIF�/��� ����� 	��	��� 	��� 	�������	����� 	��	��� ����� 	�� �	��#�� �	������� 	��� �	��	����������

61����� ��� ���� � EIJH7$� +��� ���	����� � � � ���� &�� � ��������� � � � 	� ��	������ �������� ����

��������	��	����� ���� 	�������� ����� ���� �������������� 	�������� 	��� ���� ���������� � ����	��

��	������������ ��5������ �	������� ��� ������	��	����� 	�������	����$

���� ������	��	�� ������K���� 	��� �	���� ��� ���� �	��� ���������� ���������� 	�������2	�������

��	�������3����� 	������ � � �������#� ������� ��� ��	������ ���	����� ��� 	� ��	��	��� ��� ���	�����

�	����$� +��� ��������� � � ����� ������#� ��� ����������� ��� ������������� 6�9��7�� �	���	��������

6-��7� ��� 	� ������	��� ������� ��	����6&��7$� +��� ������K��� ��������� ���� ���������	����� � ��

	�� 	�������� ��� 	������� ����� 	� ������ ��	��� ����� 	�� 	� ����������� ��	���� ��	��� ������� ��	�����

��	��� ���	����������� �����	��$

3�<�3� . � �#������� � � 	 ��������� ' �&�#��%����� �&��	��� ��� � � ��� /� �&�������

,�������� �	��� �������� ��� �	����� ��� �	���� ���� 	� ���	�"	���� �	������ � � � ����������� �	��� � ��

������ 	��� ������#� �����	������ ������ � ����������� 	��� �����������$� +���� ���������	��� ��������

�	�� ��������� ��� ���������� ������ ������ 	� ����� ������ � � ��������	���� ������ 	� ����� ������� � ��

���������� �#���3��������	��������� 	������������������� �����������������=������ 	��� ?������

�������������������6���	�� 	���%����� EII@7$

.��� � ������ �	��� ��	������ � � �	� �������/�� ���	��������� ���� 	������� ��� ����� ������#�������� ������

���������$�  ���� ������� ���� ����� ������� 	�����	������ �	��� ��������� ����� ���� ��������� � ��

��������� ��� ������ ���������� ��� �� � 	� ������� �������$� +��� ������#� ������� ��� ������� 	�

���(��	���� ��� ���� �	��� ������ ����� �	������� 	��� �������� �������	�� �������$� 9������ ����� 	�

�@



������	�� ��	��������� 	��� ����������� ����� ��� ���� ���� � �������� �������� �������� ��	������ ����

�������������������	�����	�����$

������	��	�� 	�������2	������� �����	������� �	�� ��� ��	������ ��� ��������� ��������� ��� �	�����

�������� ���(��	����� ������ �	�� ��� ��	�� ��� �������������� ������������� ��� 	������� ����	����

����������������$� .���������	���������	������ �� ��������� � ������� � � �����	�� �����	������	���

����� 	�������� ������ ����%B����	������� 	�� ���� �	���� 6���	�� 	���%����� EII@7$� ��� ���� ������

��� EII?�� ���������� ��� �����K������� 	�������� ��� ���������� ���� �	���� �� � �#������ 	�

������������2�	�	������� ��5���� 	��� ��� ���� �������� 	���� ��� EII?�� ���� �������� � � � ,1-�

	�������	����� � � ������	���� ��� ������������ ��	������	��������� ���������������$

+��� 	�����	����� � � ��������2�������� ��������� ���&4�!� � ������K���� ��������� 	� ��������������

���2������ ��	�� �	�� ��� ��	������ ��� ������� ���	�� ����������	������ ������ ��� ��	����� 	�	��	����

��� ����� �	���	������$� +��� ��5����� ����� ��� &4�!� � 	��	��� ������� ��� ��	���� 	��� ������ 	��

�������	���� ��	�	����������� 	��� ���������� ��� ���� ��	������ �	�	������� � � � ����

��������	�����$

3�<�5� ! �H�� �:#��*��� /� �&�����$�� ��. ��� � �

��� EIJE�� ���� ��5���2���"��� �������������� 	��	�� 6&4�!�7� �	�� ������ ����������

6���	��	�� 	���A��������� EIJE3�&���	��� 	��� ,����	���� EIJE3�C	��L���	�� 	��� !��������

EIJE7$� ��� ��������	���� �����	�� ��	������ ��� ���� �9�� 	��� -��� ���� ������� �	��� 	��	��	����

����� ������ ������ ������K���$� +����� 	��	��	���� 	��� 	�������� ��� ������������� ����

�	���	�������������� � � �����-�� ���������������������� � �������9�������	�� ��5���� 	�� 	��	����

��� ���� ������	��	�$� !����	�� ��5������ ���������� 	�"	����� ������	�	���� ������	�����

����#��	���� �������� �#��	��� 	��� �����	���	��� �	��� ����� �������� ��� 	������� ��� 	��������

������������ � �����	�	��������� �������������	��� ������ ����������������$

+���&���������� ��� ���� �#�������� ����� �	�	������ ��� ��� 	��� ������������ � � ���5������ ������

	��� ���	���� ������	���� ����� ���	�� �	�������� 	�������� ����K�	����	����� � � ���	��� 	������� � ��

��5���$� &�5��	���� 	�������� ���K�	�������� ��� 	� ������� �	������ ����� 	�� �����������������$�

+��� &4�!�� ��� 	� ������� ���������� ���������� ��� ������ 	� �	����	�� ��� ������� 	������� � ��

	������� ��� 	�������� �	�� ��� 	����	����� K�	����	���$� +��� 	��	��	���� � ������ &4�!� � �����

���� �������������� � � �-���	��� �9��	������������ ���+	���� ��$

�I



5������6������������ �564!
264� ����6	4

����� ����� �������1����� ������� ����� �� ���

�#��������������#���� ��

2�����1���� ����#� ��������� �� �������

����#����������������

2�#������ ������ ��� ����� �����1��������� ��

� 7����1�

3�������������������

2�������� ���� ������1���� ����#� ��� �

����������� � ���������� � ������� �

5�������#������ � �������#�������

-��	������� ����� ������������ 	��� ������

������	�������������$

&#�������� �K�������� ��� ��K������ ���

��	������	���	��������	��� �������������

-��	������� �����	�����������������$

+���������������������	����	�����	5	���� 	���

- �� ���������K���������������$

-�	������ �	��� 	������� �����2����$

B�������	���� �����	�� ������	�� � � ��	���	������

�	����$

$� ������� ���#������� � � �564� �����264�����6	4� �������������������������) �

��1�����������������1��������� � ����������������

+��� 	�������������� ���������	�� �������� � � � ��	������� �������� ����� &4�!�� ����������$�

+����� �����	�����	��	��� ����� 	������.����� *1C�=$��&4�!�V�� 	��� ���� ���#�����2*1C�

6C������� ���7� &4�!�� 	��� ���������� ����� ���������� ���� ���� ���������� � � � 	���2*1C�

	���������� ��� ���	�� ������ 	��� ��	��	$� +��� ��	������ ������ �������� ������ &4�!� � ������

����� �������	�� � ������� � � � ��	������� ����� 	�� ,1-2�	���� �������� �������� ������ 	���

����������� � � ��	����� ����	�	������ ���� ���� � � ���	��	��� �	���	����� �K��������� ����� �	������

����� �	����� 	������	�����������	������ � ��������$

+�������� � �&4�!�������� 	���� ������������ ��"�������� � � ��	����� ����	���	������ ������ ������

������� ����� ����,1-2�	���� ������$� +��� ��	������ ����� ��� ������&4�!� � 	��	��� 	��� �	���

	��� ���	������� ���#�������� � ���� 	� ����� �����2����$�  ���������� ��	���� ���������� 	��	��	��� � ��

������	������ 	�	������ � � � �	��� �	�����$� &4�!� � �	�� ������ ������������ ���	���� ��	��

	�������	����� 	��	���	����K�	���� �- �� ������������������� �	������������� �	�������$

=�






















































































































































































































































































































